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DELHI PUBLIC SCHOOL 
SAIL TOWNSHIP, RANCHI 

QUALIFYING EXAMINATION   (2024-25) 

 
Class - X                                                                           Subject – Artificial Intelligence  
Time – 2 Hours                                                   Maximum Marks- 50 
   

 

General Instructions:  

1. Please read the instructions carefully.  
2. This Question Paper consists of 13 questions in two sections: Section A & Section B.   
3. Section A has Objective type questions whereas Section B contains Subjective type 

questions.  
4. Out of the given (3 + 10 =) 13 questions, a candidate has to answer (3 + 8 =) 11 questions in 

the allotted (maximum) time of 2 hours.  

5. All questions of a particular section must be attempted in the correct order.  
 
 

SECTION A: OBJECTIVE TYPE QUESTIONS 
 

Q. 1  Answer any 4 out of the given 5 questions on Employability Skills (1 x 4 = 4 marks) 

i.  __________ rearranges the fragmented files on continuous locations in order to 
increase file access speed. 

1 

ii.  To remove files from temporary folder, type ________ in the Run dialog box. 1 

iii.  Expand the term virus. 1 

iv.  An operating system falls under which one of the following categories? 

(a) Application software 

(b) System software 

(c) Utility software 

(d) Firmware 

1 

v.  …………………………… are the small files that get stored on a computer 
while surfing the internet and help websites identify a user.  

1 

Q. 2  Answer any 10 out of the given 11 questions (1 x 10 = 10 marks)  

i.  An AI algorithm that predicts stock market trends based on historical data and 
current market condition is using techniques from: 
(a) natural language processing 
(b) computer vision 
(c) machine learning 
(d)  robotics 

1 

ii.  An AI system that analyses medical scans and X-rays to detect early signs of 
disease is an application of:  

(a) speech recognition 
(b) computer vision 
(c) natural language processing 
(d) robotics  

1 
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iii.  The ……………………………….. technology enables machine to analyse a large 
amount of data using neural networks. 

1 

iv.  1. Artificial intelligence is a subset of machine learning. 

2. Unequal distribution of wealth is an ethical issues associated with the AI 
system 

(a) Statement 1 and 2 both are true 

(b) Statement 1 and 2 both are false 

(c) Statement 1 is correct statement 2 is false 

(d) Statement 1 false statement 2 is correct 

1 

v.  Computer vision extracts meaningful information from ……………….. data. 1 

vi.  Recommendation System is an example of which of the following domains of 
AI? 

(a) data science 

(b) computer vision 
(c) natural language processing 
(d) All of the above 

1 

vii. The world of Artificial Intelligence revolves around ___________ 1 

viii. Based on the image below, choose the correct domain or domains of AI required 
for it: 
 

 
 
(a) Data   
(b) NLP  
(c) Computer Vision  
(d) Both (a) and (b) 

1 

ix. Which of the following best defines artificial intelligence? 
(a) The science of making machine intelligent 
(b) the study of human emotions and behaviour 
(c) the process of automating manual task  
(d) the development of Advanced computing systems 
 

1 

x. A machine can also become intelligent if it is trained with __________ which 
helps them achieve their tasks. 

1 

xi. ___________________ is an example of applications of Natural Language  
 Processing. 
(a) Evaluation  
(b) Automatic Summarization 
(c) Deep Learning  
(d) Problem Scoping 

1 
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Q. 3  Answer any 10 out of the given 11 questions (1 x 10 = 10 marks)  

i.  ________________ and ______________ are AI -based applications that help us 
in navigation. 

1 

ii.  What is the primary purpose of recommendation systems powered by AI? 

(a) Enhancing user experience and personalizations 
(b) Identifying potential cyber threads 
(c) Analysing medical data of disease diagnosis 
(d) Automating  manufacturing process 
 

1 

iii.  Amazon Alexa is a voice-controlled digital or virtual assistant software that 
takes voice commands to make to-do lists, place online orders, schedule 
reminders and answer queries through internet searches. Alexa uses_______  

(a) Decision Tree  

(b)  NLP  

(c) Classification  

(d) Data Visualization 

1 

iv.  Which of the following is an ethical concern related to AI bias? 

(a) AI’s potential to improve healthcare outcomes 
(b) AI’s role in enhancing personalized customer experience 
(c) AI’ algorithm perpetuating racial or gender biases  
(d) AI’s is impact on automating mundane tasks 

1 

v.  How can data scientist contribute to mitigating AI related ethical issues 

(a) avoiding Data Collection to protect user privacy 
(b) prioritizing speed over accuracy in Ai algorithm 
(c) developing AI models with transparency and fairness 
(d) excluding diverse perspective in AI development 
 

1 

vi. In ____________ , input to machines can be photographs, videos and pictures 
from thermal or infrared sensors, indicators and different sources. 

(a) Computer vision 
(b) Data Acquisition 
(c) Data Collection 
(d) Machine Ledarning 
 

1 

vii. When a user installs an app on the smartphone, it asks for access to a gallery, 
contacts, etc. After accepting this, it gives the user agreement which most users 
accept withput realizing the implications. What is the concern here? 

(a) AI Access 
(b) AI Bias 
(c) Data Privacy 
(d) None of these 

1 

viii. Identify the positive traits that an AI machine should possess.  

i. make decisions 

ii. bias  

iii. predict  

iv.  learn and improve on its own  

1 
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(a)  i), and iii) only  
(b)  i) , iii) and iv) only  
(c)  ii) and iv) only  

(d)  i) ,ii), and iv) only 

ix. An industrial robot learns and adapts to new tasks without being explicitly 
programmed is using the concept of: 
(a) Computer Vision 
(b) Machine Learning 
(c) Speech Recognition 
(d) Natural Language Processing 
  

1 

x. In which domain of artificial intelligence would language translation services, 
like Google Translate, which convert text from one language to another, be 
classified? 

(a) Computer Vision 
(b) Natural Language Processing 
(c) Machine Learning 
(d) Robotics 

1 

xi. Which domain of AI encompasses the development of AI-driven 
personalization in online services, such as customized news feeds or targeted 
advertising? 
(a) Machine Learning 
(b) Natural Language Processing 
(c) Computer Vision 
(d)  Robotics 

1 

 
 

SECTION B: SUBJECTIVE TYPE QUESTIONS  

Answer any 3 out of the given 4 questions (2 x 3 = 6 marks) Answer each question in 20 – 30 
words.  

Q. 4  What is a computer operating system? State any two functions of operating 
system. 

2 

Q. 5 What is the difference between a file and a folder? 2 

Q. 6  What is disk defragmentation? 2 

Q. 7  What are the symptoms of a computer infected by virus? 2 

 

Answer any 5 out of the given 6 questions in 50– 80 words each (5 x 4 = 20 marks) 
 

Q. 8 Define Intelligence? Explain in brief any three types of intelligence that are 
mainly perceived by human beings. 

4 

Q. 9 Explain in brief the three domains of AI. 4 

Q. 10 Differentiate between AI, ML and DL . 4 

Q. 11 Explain What is AI and what is not AI with the help of an example respectively. 4 

Q. 12 Explain in detail about the ethical concerns of AI. 4 

Q. 13 Write notes on: 
(a) AI access 
(b)  AI bias 

4 
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DELHI PUBLIC SCHOOL 
SAIL TOWNSHIP, RANCHI 
QUALIFYING EXAMINATION (2024-25) 

 
  

Class - X                                                                            Subject – English  
Time –3 Hours                                                                Maximum Marks- 80 
   

General Instructions: 

i. The Question Paper contains THREE sections- READING, GRAMMAR & WRITING and 

LITERATURE. 

ii. Attempt questions based on specific instructions for each part. 
 

 
Section-A: Reading Skills (20 Marks) 

1. Read the following text.        [10 Marks] 

(1) Hobbies help us grow as a person. The best way to have a new hobby is to try something 

new. All of us are unique, and this is the reason why our hobbies and interests are 

different. Once we find an activity we are passionate about, we can explore that activity 

more. When you get hooked, you will realize that your hobby has become an integral part 

of your life. Having a hobby that we enjoy brings us joy and refreshes us. Hobbies help 

us to manage our leisure and unplanned time more productively. It also affords you the 

opportunity to learn new skills in your work. But these are not the only benefits of having 

a hobby. 

(2) It feels great to be skilled and good at something, doesn't it? And this is what that makes 

you confident. It can take some time to develop your hobby so that you may be able to 

tell that you are skilled. But, the journey of experiencing your hobby is very rewarding in 

itself. With the exposure to different types of activities these days, it doesn't matter which 

activity you choose. Whether you are pursuing a craft, sports, puzzles, or skill 

development, your hobby should be a diversion and a passion. Simultaneously, if your 

hobby gives you a sense of purpose, then you will be more confident about challenging 

yourself in your hobby and help you prepare for learning new things at work. 

(3) Hobbies give you an opportunity to enhance your life. Hobbies allow you to de-stress 

yourself while remaining mentally productive. Having hobbies promotes better health and 

may lower the risk of having high blood pressure. Enjoying a few hours of your hobby a 

week can also reduce the risk of depression and dementia. Hobbies refocus your mind on 

to something that you enjoy doing. Hobbies that include physical activities create 

chemical changes in your body that help to reduce stress. 

(4) Even if it doesn't involve physical activities, you can still reap the benefits of having a 

hobby. Getting a short break from work and doing something you are passionate about 

can rejuvenate your mind and help prepare you to handle challenges in the future in a 

better way. 
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(5) Hobbies may provide an opportunity for you to socialize with people and that can be an 

additional benefit for your overall well-being. You can connect with people who enjoy 

doing the same things that you do. You can meet new people, discuss your hobby and get 

connected to a bigger circle that may even help you turn your hobby into your profession. 

The internet provides numerous groups and forums to connect with people that enjoy 

doing the same things that you want to do. 

(6) Some hobbies require creativity and if you develop creativity through your hobby, it can 

be beneficial. Creativity can help you experience new things at school and work. The skill 

of being creative is essential in today's world. 

Answer the following questions, based on the passage above. 

(i) When a person becomes enthusiastic about a hobby, he realizes that:    (1) 

(a) it has become an essential part of our life. 

(b) it has much more benefits than we realized. 

(c) it is much more enjoyable to have a hobby. 

(d) it is quite essential for us to learn some skills through our hobbies. 

(ii) No matter which sort of hobby you are pursuing, whether a craft, sports, puzzles, or skill 

development, your hobby should be:        (1) 

(a) useful for you in the long run. 

(b) a skill that improves your present circumstances. 

(c) a deviation and an urge. 

(d) followed through till the end. 

(iii) Following a hobby diligently is quite:        (1) 

(a) challenging for a person. 

(b) rewarding in itself. 

(c) demanding in itself. 

(d) inspirational for a person. 

(iv) Hobbies allow you to de-stress yourself while remaining ________      (1) 

(v) Hobbies that include physical activities create chemical changes in the body. State True/False

             (1) 

(vi) Based on the reading of the passage, examine, in about 40 words, that 'Creativity is the 

mother of invention'.           (2) 

(vii) Getting a hobby means having a short break from work and doing something you are 

passionate about which can:         (1) 

(a) give you a peace of mind from all the other problems of daily hectic life and make you 

feel refreshed.     

(b) help you enhance and improve your skills and push you forward on your path to 

success. 

(c) make you enjoy and appreciate your life much more as you are happy pursuing what 

you love.  

(d) rejuvenate your mind and help prepare you to handle challenges in the future in a 

better way. 

(viii) Justify the following:          (2) 

 Hobby prepares you for a better tomorrow. 
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2. Read the following passage carefully:    (10 marks) 

(1) Conference series LLC Ltd organises a conference series of 1000+ global events 

inclusive of 300+ conferences, 900+ upcoming and previous symposiums and workshops 

in USA, Europe and Asia with support from 1000 more scientific societies and publishes 

700+ open access journals which contain over 30000 eminent personalities, reputed 

scientists as Editorial board members. 

(2) Recycling and Waste Management Convention 2018 proudly invites contributors across 

the globe to 9thWorld Convention on Recycling and Waste Management during October 

22-23, 2018 in Osaka, Japan, which includes prompt keynote presentations, oral talks, 

poster presentations and exhibitions. 

(3) We are delighted to say that it is the 9thWorld Convention on Recycling and Waste 

Management which will be held in a beautiful city of Osaka, Japan and hence we invite 

you all to attend and register. 

(4) 9thWorld Convention on Recycling and Waste Management is mainly based on the theme 

"Advocating Waste Disposal and Recycling Practices for Clean and Green Environment." 

We warmly welcome all the participants leading scientists, researchers and scholars of 

the world to attend the convention. We provide a platform for young researchers and 

students to present their research through oral presentations through which they can 

develop a foundation for collaboration among young researchers. 

(5) The organizing committee aims at setting a platform for all the budding scientists and 

researchers to present their real-time work and share their views and aspects related to the 

theme of the conference. The organizing committee is gearing up for an exciting and 

informative conference program including plenary lecture, symposia, workshops on a 

variety of topics, poster presentations and various programs for participants from all over 

the world. 

 

 

 

 

 

 

 

 

 

Answer the following questions, based on the passage above. 

(i) Supply a suitable title, based on the information in the passage.     (1) 
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(ii) Select the appropriate option to fill in the blanks.       (1) 

 __________________ has been considered as the second nature to us. 

(a) Sorting of waste 

(b) Recycling of waste 

(c) Waste management 

(d) Implementing steps framed and deployed inconvention 

(iii) Which theme has been highlighted in the given passage?     (1) 

(a)  Efficient means of reducing garbage 

(b)  Various techniques to be employed to recycle the goods 

(c)  Efficient ways of waste disposal 

(d) Both (b) and (c) 

(iv) Which of the following notion in the conference has been emphasized to be deployed? 

              (1) 

 (a) Waste disposal management 

 (b) Waste management 

 (c) Recycling of goods 

 (d)  Reshaping Earth's future 

(v) According to the pie-chart, approximately two-fifths of the total recycling is conducted 

for _______________________         (1) 

(vi) Find the synonymn of ‘forum’ as given in para 1.      (1) 

(vii) List any two points that the given data represents.      (2) 

(viii)  What has been considered as an efficient means to reduce landfill area?   (2) 

     Section-B: Writing Skills & Grammar  (20 Marks)  

      Grammar     [1 X 10 = 10] 

3. Complete ANY TEN of twelve of the following tasks as directed. 

 (i) Fill in the blank by choosing the correct option to complete the sentence.  (1) 

  The boys______ to my lecture since 8 O'clock this morning 

  (a) were listening (b)  have been listening 

  (c) had been listening (d)  none of these 

(ii) Fill in the blank with the correct option. 

 Since he woke up he_______________ .       (1) 

  (a) has been study (b) has been studying  

  (c) had studied (d) is studying  
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(iii) Select the correct option to fill in the blank for the given line.    (1) 

 I _________ rather die than join the gang of terrorists. 

  (a) could (b) should 

  (c) would (d) can 

(iv) Select the option that identifies the error and supplies the correction for the 

following line:           (1) 

 A little political thinkers think that liberty and equality can’t go together. 

Option Error Correction 

(a) Can’t Couldn’t 

(b) Think Thinks 

(c) A little Some 

(d) Go goes 

(v) Complete the given sentence, by filling in the blank with the correct option: (1) 

 They wanted to hear______ end of the story. 

(a)  a   (b) an 

 (c)  the   (d) no article 

(vi) Fill in the blank with the correct option.       (1) 

 There is _______ storm coming soon this way. (a/the) 

(vii)Complete the given narrative, by filling in the blank with the correct option. (1) 

 Each of the boys__________rewarded.   

(a) are being  (b) have been 

 (c) was  (d) were 

(viii) Identify the error in the given sentence and supply the correction.   (1) 

 Some guys like to fights on even playing grounds, and some guys like to cheat. 

 Use the given format for your response. 

Error Correction 

  

 

(ix) Identify the error for the given sentence, from commercial company’s current 

marketing strategy.          (1) 

 The company aimed at increasing authority in areas frequently visited by the clients. 

Error Correction 
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(x) Fill in the blank by choosing the correct option to complete the sentence.  (1) 

 My class teacher told me that I ______ work hard. 

(a) shall  (b) could 

 (c) can   (d) should 

(xi) Complete the line from a poem written by Sylvia Plath by filling the blank with the 

correct option.           (1)   

 I am silver and exact 

 I have no preconceptions 

 Whatever I see I_____________ immediately. 

 Just as it is, unmisted by love or dislike. 

(a)  will swallow  (b) swallow 

 (c)  swallows  (d) swallowed 

(xii) Identify the error and supply the correction, for the following sentence:  (1) 

 Every people went to welcome the Indian Cricket team.  

Error Correction 

  

 WRITING  

4. Attempt ANY ONE from A and B given below:        (5)  

     (A) Technology today is an effective and convenient means of learning. 

TECHNOLOGY IN EDUCATION 

PROS CONS 

 Improves engagement and 

retention. 

 Distracting 

 Promotes interactive collaborative 

learning 

 Reduces problem solving skills 

 

 Prepares students for the future  Reduces direct peer interaction 

 Reduces costs  Expensive to maintain 

 Promotes technological skills  Information may not be authentic 

 Provides current information  Communication 

You are Meera/Vaibhav and you would like to share your views on the pros and cons of 

technology in education.Write a letter to the Editor of a newspaper expressing your views in 

about 100-120 words. 
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OR 

 (B) You are Prabhu Kumar/Parvati of 17E, Ravi Dass Road, Kochi. Write a letter to the Editor of 

a newspaper about the nuisance caused by loud speakers in the city during examination days, 

drawing the attention of the concerned authorities towards the problem. 

5. Attempt ANY ONE from A and B given below: 

 (A) in an exclusive survey conducted by a leading daily, students of class X expressed their job 

preference. On the basis of the information given in the pie chart, write a paragraph 

analyzing the careers they want to pursue after school. (Word limit 100-120 words) (5) 

 

 

OR 

 (B) Write an analytical paragraph based on the double bar graph showing the percentage growth 

in different sectors in a developing country from the year 2012 to 2022. (100-120 words) 
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Section-C: Literature Textbook and  

Supplementary Reading Text 
40 Marks 

6. Read the given extracts and answer the questions for ANY ONE of the two.  (5) 

(A) When he finished, he went to the window to buy a stamp which he licked and then 

affixed to the envelope with a blow of his fist. The moment the letter fell into the mailbox 

the postmaster went to open it. It said: "God: Of the money that I asked for, only seventy 

pesos reached me. Send me the rest, since I need it very much. But don't send it to me 

through the mail because the post office employees are a bunch of crooks. Lencho." 

(i) ‘...bunch of crooks.' Pick the option that DOES NOT collate with 'bunch of, 

correctly.           (1) 

 

 

 

 

 

 

 
 

(a) option (1)    (b) option (2) 

  (c) option (3)    (d) option (4) 

(ii) Who have been denoted as a bunch of crooks in these lines? Why?   (Answer in 30 

to 40 words)          (2) 

(iii) Pick the option that lists the option corresponding to____ ‘with a blow of his fist’.

            (1) 

 

 

 

 

 

 

 

(a) option (1)    (b) option (2) 

  (c) option (3)    (d) option (4) 
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(iv) “True Generosity means accepting ingratitude.” By Coco Channe; can this be a 

suitable quote for this extract? YES / NO.           (1) 

OR 

(B) “It was only when I began to learn that my boyhood freedom was an illusion, when I 

discovered as a young man that my freedom had already been taken from me, that I began to 

hunger for it. At first as a student I wanted freedom only for myself, that transitory freedoms 

of being able to stay out at night, read what I pleased and go where I chose. Later, as a young 

man in Johannesburg, I yearned for the basic and honorable freedoms of achieving my 

potential ……………  

(i) The title that best suits this extract is:        (1) 

(a) Freedom for everything 

(b) Freedom lies in being bold 

(c) Significance of Freedom 

(d) Fight for your Freedom  

(ii) What does ‘transitory’ mean in the extract given.      (1) 

(iii) Choose the option that best fits the usage of the world ‘illusion’ as used in the extract. 

             (1) 

(a)  He was never able to get past the illusion. 

(b)  The illusion I experienced was quite intriguing. 

(c)  A large mirror in the room creates an illusion. 

(d)  I was living under the illusion that this is possible. 

(iv) The speaker says, ‘at first as a student I wanted freedom only for myself.’ Why do you think 

he only thought about himself? Elaborate in about 30 to 40 words, with reference to the 

extract.            (2) 

7. Read the given extracts and answer the questions for ANY ONE of the two. (5 marks) 

 (A) But if it had to perish twice, 

  I think I know enough of hate. 

  To say that for destruction ice 

  Is also great 

  And would suffice 

  (Fire and Ice)      

(i) Fill the blank with one word.        (1) 

When the speaker says that ice could also bring about the end of the world. He refers 

to_________, as the means for destruction. 
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(ii) What does ‘suffice’ mean in the last line.       (1) 
 

(iii) Which of the following best describes the speaker’s attitude towards destruction 

caused by ice?          (1) 

(a) Indifferent  (b) Fearful 

(c) Dismissive  (d) Respectful 

(iv) “But if it had to perish twice”. Why does the poet use ‘if’ in the above quotation? 

(Answer in 30 to 40 words).        (2) 

OR 

(B) The way a crow 

 Shook down on me 

 The dust of snow 

 From a hemlock tree 

(a) Where did the crow supposedly sit?      (1) 

(b) We can say that the poet was ……. (gloomy / glad)    (1) 

(c) How did the crow change the poet’s mood?     (1) 

(d) What do the ‘Hemlock’ tree and ‘Crow’ represent? What does the dust of snow 

metaphorically stand for?  (answer in 30-40 words)    (2) 

8. Answer ANY FOUR of the following five questions in about 40-50 words. (4x3=12) 

 (i) Explain how the description of the devastation caused by the hailstorm reflects the 

sadness within Lencho in A Letter to God? 

  Refer to the given lines from the text.  

Not a leaf remained on the trees. The corn was totally destroyed. The flowers were 

gone from the plants. Lencho’s soul was filled with sadness. 

(ii) Explain why the poet personally holds the conviction that the world will primarily end 

in fire? (Fire and Ice). 

(iii) Anne justified her being a chatter box in her essay. Do you agree that she had the 

courage to fight injustice? What values do you learn from Anne’s character through 

this? 

(iv) Nelson Mandela joined the African National Congress as a young man. What made 

him join it? How did it transform his character?  

(v) A simple moment proves to be very significant and saves the rest of the day from 

being wasted. Explain on the basis of the poem ‘Dust of Snow’. 
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9. Answer ANY TWO of the three questions given below in about 40-50 words each.  

            (2x3=6) 

(i) Why was Tricki an uninteresting object for other dogs at the surgery? (A Triumph of 

Surgery). 

(ii) Why did Hari Singh smile in his most appealing way towards the end of the story? 

(The Thief’s Story) 

(iii) What did Griffin finally do when people held him responsible for all the strange 

occurrences? (Footprints without Feet) 

10. Answer ANY ONE of the two questions given below in 100-120 words.  (1x6=6) 

(i) No one is born hating another on the basis of caste, creed or colour. Do you agree? 

Elaborate with reference to the chapter “Nelson Mandela-Long walk to Freedom”. 

OR 

(ii) How does the poem depict the two contrasting ideas — ‘Fire’ and ‘Ice’? Can hatred 

destroy us and the world? Explain bringing out values which can make this world a 

better place to live in. 

11. Answer ANY ONE of the following in about 100-120 words.      (1x6=6) 

(i) Trust and compassion can reform a person. Justify this statement in the light of the 

lesson ‘The Thief’s Story’. 

OR 

(ii) Griffin set the house on fire when he was thrown out. Anger and Revenge are in no 

way a solution to any problem.(Footprints Without Feet). 

Write a paragraph on importance of Anger Management for teens and its detrimental 

effects on health. 

You may begin like this: 

ANGER DOSEN’T RESOLVE, IT DESTROYS_________.     
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DELHI PUBLIC SCHOOL 
SAIL TOWNSHIP, RANCHI 

QUALIFYING EXAMINATION   (2024-25) 

 
Class - X                                                                     Subject – Introduction to Financial Market 
Time – 2 Hours                                         Maximum Marks- 50 
   

 

 

General Instructions: 
1. Please read the instructions carefully. 
2. Section A has Objective type questions whereas Section B contains Subjective type 

questions. 
3. All questions of a particular section must be attempted in the correct order. 
4. Marks allotted are mentioned against each question/part. 

 

 
SECTION A: OBJECTIVE TYPE QUESTIONS 

 
 Q. 1 Answer any 4 out of the given 5 questions on Employability Skills ( 4x1 = 4 

Marks) 
 

    (i)   ______ is the most effective and commonly used way of communication that helps 
in expressing our emotions in words. 

  1 

   (ii)  Choosing the right method of communication depends on _______ 
(a) Target Audience 
(b) Type of information 
(c) Priority 
(d) All the above 

  1 

  (iii)  Which method of communication is used to share the information to a large group 
of people where e- mail communication may not be effective?  

  1 

  (iv)  Give any two examples of small group communication.   1 

  (v)  Which of the following is not an example of written communication? 
(a) News Papers 
(b) Letters 
(c) Phone Call 
(d) e – mail 

  1 

 
Q. 2 Answer any 5 out of the given 6 questions.  ( 5x1 = 5 Marks)  

    (i)   Which are the securities one can invest in?   1 

   (ii)   Write the full form of SEBI 
(a) State Exchange Bank of India 
(b) Stock Exchange Board of India  
(c) Securities Exchange Board of India 
(d) Sensex Exchange Board of India 

 

  1 



2 
 

  (iii)  Securities Market performs an important role of enabling corporates, entrepreneurs 
to raise resources for their companies and business ventures through ______. 

  1 

  (iv)  What are liquid funds?   1 

  (v) _____ is often the first banking product people use, which offers low interest rate p.a   1 

  (vi) Give any four examples of Physical Assets   1 

 
Q. 3 Answer any 5 out of the given 6 questions.  ( 5x1 = 5 Marks)  

    (i)  What is the full form of DEA?    1 

   (ii)  Which of the following factors determine interest rates? 
(a) Demand and Supply of Money 
(b) Level of Government Borrowings 
(c) Both (a) and (b) 
(d) None of the above 

  1 

  (iii)  _______ is a place where buyers and sellers of securities can enter into transactions 
to purchase and sell shares, bonds, debentures etc. 

  1 

  (iv)  Define the term NAV.   1 

  (v)  What are the three golden rules for all investors?   1 

  (vi) What do you mean by Inflation?   1 

 
Q. 4 Answer any 5 out of the given 6 questions.  ( 5x1 = 5 Marks)  

    (i)   What is the full form of DCA?   1 

   (ii) The aim of Investment should be to provide a return _______to ensure that the 
investment does not decrease in value. 
(a) Above the inflation rate 
(b) Below the Inflation rate 
(c) At par the Inflation rate 
(d) None of the above 

  1 

  (iii)  The SEBI is the regulatory authority in India established under ________    1 

  (iv)  What is an Equity Share?   1 

  (v)  What do you mean by a ‘Debt Instrument’?   1 

  (vi) Who are the participants of Securities Market?   1 

 
Q. 5 Answer any 5 out of the given 6 questions.  ( 5x1 = 5 Marks)  

    (i)   What are the two segments of securities market?   1 

   (ii)  Which of the following is an example of long term financial option ? 
(a) Saving Bank Account 
(b) Liquid funds 
(c) Debentures 
(d) None of these  

 

  1 
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  (iii)  Protecting the interest of investors in securities is one of the statutory powers of 
_____ 
(a) NSE 
(b) BSE 
(c) SEBI 
(d) None of these 

  1 

  (iv)  Define the term ‘Investment’.   1 

  (v)  What is a Depository?   1 

  (vi) ________is the process by which physical certificates of an investor are converted to 
an equivalent number of securities in electronic form and credited to the Investor’s 
account with his/her DP. 

  1 

  
    SECTION B: SUBJECTIVE TYPE QUESTIONS 

 

 Answer any 3 out of the given 4 questions on Employability Skills.  ( 3x2 = 6 
Marks) 
Answer each question in 20 – 30 words. 

 

    6.  Explain the three important parts of communication.    2 

    7.  What are the various elements of communication cycle? Explain them briefly.   2 

    8.  State how one can master the verbal communication?        (Give any two points.)   2 

    9  What are the advantages of Verbal Communication?           (Give any two points)   2 

 

 Answer any 4 out of the given 5 questions in 20 – 30 words each.  ( 4x2 = 8 Marks)  

10.   What do you mean by the term ‘Interest’ and how it is calculated?   2 

11.  Give short notes on BONDS.   2 

12.  What do you mean by Company Fixed Deposits?   2 

13  State the powers of SEBI. (any four)   2 

14.  What is the function of Securities Market?   2 

 

 Answer any 3 out of the given 4 questions in 50 – 80 words each.  ( 3x4 = 12 
Marks) 

 

15.  There are Twelve Important Steps to Investing. State any Eight of them.   4 

16.  Give short notes for the following: 

(a) Post office savings 

(b) Public Provident Fund 

  4 

17. What do you mean by derivative?    4 

18  Is it necessary to transact through an intermediary? Explain briefly.   4 
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DELHI PUBLIC SCHOOL 
SAIL TOWNSHIP, RANCHI 
QUALIFYING EXAMINATION (2024-25) 

 
  

Class - X                                                                            Subject – French  
Time –3 Hours                                                                Maximum Marks- 80 
   

SECTION A  
Comprehension  [10 Marks] 

L'île de Bali se trouve à km à l'est de Java. C'est Il détroit de Bali qui fait la séparation entre Bali et 
Java. 
La chaîne montagneuse du centre de Bali comprend plusieurs pics de plus de 2000 mètres 

d'altitude. Le plus est 1 'Agung, un volcan actif baptisé la « mere montagne ». La nature 

volcanique de Bali contribute production à son exceptionnelle fertilité et ses hautes chaînes 

montagneuses provoquent les fortes precipitations favorisant la forte du secteur agricole. La 

vaste zone descendant du côté sud des montagnes est consacrée à la culture du riz. Le fleuve le 

plus long est la rivière Ayung. Bali n'a pas de voies navigables importantes. 

L'île est entourée de récifs coralliens*. Les plages du sud sont de sable blanc et celles du nord et de 
l'est sont de sable noir.. Les plages de sable noir entre Pasut et Klating du kuhon tété développées 
pour le tourisme. 

Trois petites îles situées au sud-est sont Nusa Penida, Nusa Lembongan et Nusa Ceningain. Elles 
sont séparées de Bali par le détroit de Badung. 
(récifscoralliens : coral reefs) 

Répondez aux questions suivantes: ( 2 au choix)      [ 2×2 = 4] 

1) Quelle est l’importance des hautes chaînes montagneuses dans l’île de Bali ? 

2) Que voyez – vous dans l’image ? 

3) Comment est le ciel dans l’image ? 

Trouvez dans le texte :            [3] 

1) Le contraire de < bas> 

2) La forme nominale de <cultiver> 

3) Un adjectif 

4) Une conjonction 

5) La forme verbale de < le développement> 

6) Une préposition 

Dites vrai ou faux :             [3] 

1) On appelle l’augung la <mère montagne> 

2) La nature volcanique de baki contribute à sa , fertilité. 

3) Les récifs xoralliens en tourent l’île de Bali . 

4) Le droit de Badung sépare Bali et java . 

5) Il n’y a pas de petites villes. 

6) L’île de Bali se trouve à 3 , 2 km  l’est de java. 
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SECTION – B 

        ( Expression Écrite)  [20 Marks] 

1. Écrivez Une lettre 80 mots:                  [10] 

a) Écrivez  votre ami qui habite en suisse pour décrire le dernier livre que vou sa vez lu. 

Ou 

b) vous êtes en france . Décrivez le systeme d’éducation français à votre mère. 

Ou 

c) Écrivez une lettre à votre ami qui est au chômage.Donnez -lui des conseils . 

2. FAITES DEUX DES QUESTIONS SUIVANTES:       [5x2=10] 

a) vous avez acheté des billets pour voir un film samedi soir à six heures.Vous allez varun pour 

 l’inviter mais il n’est pas chez lui. Vous lui laissez un message . Écrivez le message. 

Ou 

b) Complétez le texte avec les indices donnés. Conjuguez les verbs selons le texte. 

 ( manger, travailleuse, rendre, ne avoir rien, avoir faim,généreuse, ramàsser, beaucoup, 
prêter, tout) 

La fourmi , qui etait _______ a travaillé _______ l’été. Elle ______ de la nouriture et elle était 
riche. Sa voisine , la cigale a passé son temps à Chanter et à jouer pendent tout l’été. Quand 
l’hiver est arrivé, elle _______ rien à manger. Donc , elle est allée chez la fourmi qui grâce à son 
travail avait ______ à manger. La cigale, qui ________ a demandé à la fourmi de lui _________ 
quelques provision et elle a promis de les lui __________ au printemps. Malheuresement la 
forumi n’était pas ________ et elle a refusé de rendre des provision à la cigale qui est restée sans 
____________. 

Ou 

C) Mettez le dialogue dans le bon ordre: 

1) C'est grave docteur ? 

2) Depuis quand tu es malade ? 

3) Merci docteur. Voici les honoraires. 

4) Bonjour docteur, je ne me sens pas bien. Je tousse beaucoup et j'ai mal à la tête. 

5) Laisse-moi voir. Ah, tu as attrapé un rhume. Je vais te prescrire des médicaments. 

6) Depuis deux jours. 

7) Pas du tout. Prends ces pilules et cette sirope pour la toux. Tu seras guérie. 

SECTION – C ( Grammaire) [30 Marks] 

I. Mettez aux temps convenable : ( 5 aux choix)                    [5] 
1) Quand je ( revenir) en France , je teverrai. 

2) Aussi tot qu’il ( rentrer) chez eux, il s ont mangé le diner. 

3) Hier, mon amie ( aller) au portugal. 

4) Comment ( venir) hiersoir ? 

5) Madame, je ( vouloir) deux baguettes s’il vous plaît . 

6) Vous______ ( se présenter) au directeur dans quelques minutes. 

7) L’année dernière, nous ________ ( aller) en Europe. 
 

II. Mettez les phrases suivantes à la forme négative :        [5] 

1) Elle a déja fait lea devoir. 
2) Nous prenons souvent des escargots. 
3) Jean veut encore de la crème. 
4) Ils ont des soeurs. 
5) C’est un stylo. 
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III. Trouvez des questions :             [5] 
1) Elle a pris les gateaux 
2) Oui, c’est fini. 
3) Paul a pris deux romans. 
4) Ils viennent de Londres. 
5) Ses joues sont roses. 

 

IV. Remplacez les nomssoulignés par les pronoms:          [5] 
1) Marc a offert des roses à sa soeur. 
2) J’ai achété les livres 
3) Il m’envoie des cartes. 
4) Vas- tu téléphoner à tes cousins ? 
5) Luc vas ou vent chez ses grands- parents. 

 

V. Reliez les phrases en utilisant les pronoms relatifs simples ou composés :    [5] 
1) C’est une idée. Je ne partage pas cette idée. 
2) Avez vous ce livre ? Vous m’avez parlé de ce livre . 
3) C’est mon meilleur ami. Je lui écris souvent. 
4) J’aime ton style . C’est un style vraiment original . 
5) C’est une belle idée. Tu as pensé à cette idée. 

 

VI. Ecrivez les verbes du texte au passé compose ou à l’imparfait :          [5] 
Nous ( partir) le matin. Nous( mettre) un manteau. Nous ( craindre) le froid. Nous(appeler) le 
chien, il ( venir) aussitôt et il (aboyer). Nous( éteindre) la lumière, nous (sortir) et nous( fermer) 
la porte. 

 

Section – D 

Culture and civilisation [ 20 marks ] 

A. Répondez au questions suivantes : ( 5 aux choix)                                      [10] 
1) Qu’est –ce que le brevet ? 

2) Quelles est travail d’une secrataire ? 

3) À quoi sert le site de pôle – emploi ? 

4) Qui a écrit ‘Le petit prince ‘ ? 

5) Qu’est – ce qu’un conte ? 

6) Qui a crée le festivale d’Avignon ? 

7) Qu’est –ce que TV5 ? 
 

B. Ditesvraiou faux :                 [5] 
1) La sorbonnes est la plus ancienne université de paris. 

2) Céline Dion est une reine célèbre  

3) Il faut rester siliencieux dans la bibliothèque. 

4) Perrault est un peintre français ? 

5) On reçoit le brevet au lycée. 
 

C. Reliez les phrases :                  [5] 

1) Entrer.                      a) une formation 

2) Passer.                      b) de l’école 

3) Suivre.                      c) à la fac 

4) Sortir                      d) à la examen 

5) Réussir.                    e) un concours 



1 
 

DELHI PUBLIC SCHOOL 
SAIL TOWNSHIP, RANCHI 

QUALIFYING EXAMINATION   (2024-25) 

 
Class - X                                                                              Subject – Information Technology  
Time – 2 Hours                                                  Maximum Marks- 50 
   

 

General Instructions: 
(i) Please read the instructions carefully. 
(ii) This Question Paper consists of 21 questions in two sections: Section A& Section 

B. 
(iii) Section A has Objective type questions whereas Section B contains Subjective 

type questions. 
(iv) Out of the given (5+16)=21 questions, a candidate has to answer (5+10=)15 

questions in the allotted (maximum) time of 2 hours. 
(v) All questions of a particular section must be attempted in the correct order. 

 

SECTION A: OBJECTIVE TYPE QUESTIONS 

1. Answer any 4 out of the given 6 questions:     (1x4=4 marks)  

(i) ___________ is a series of postures and breathing exercises practiced to 
achieve control of body and mind. 
(a) Meditation 

(b) Nature walk 

(c) Yoga 

(d) Physical Exercise 

(ii) To remove the files of temporary folder, we type ________ in Run dialog box 
after pressing “Windows button + R” on the keyboard. 
(a) #temp#   

(b) %temp% 

(c) E$temp% 

(d) &temp& 

(iii) ___________ is not the quality of self-confident people. 

(a) Dependent 

(b) Positive attitude 

(c) Hard Working 

(d) Commitment 

(iv) The __________ conveys the message to the sender in the form of feedback to 
complete the communication cycle. 

(a) Sender  

(b) Environment 

(c) Receiver 

(d) Circumstances 
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(v) Software that starts working as soon as we switch on a computer is 
____________ 
(a) RAM 

(b) ROM 

(c) Operating System 

(d) None of the above 

(vi) The function of the F1 key in most programs is to ___________ 

(a) Open save as dialog box 

(b) Open help 

(c) Delete a file 

(d) None of the above 

2. Answer any 5 out of the given 6 questions      (1X5=5 marks) 

(i) ________ plays an important role in communication as it tells both sender and 

receiver, how the message was interpreted. 

(a) Media 

(b) Source 

(c) Courtesy 

(d) Feedback 

(ii) When the sender’s message is received differently from how it was intended, 

is known as _____________ 

(a) Organisational barrier 

(b) Interpersonal barrier 

(c) Physical barrier 

(d) Language barrier 

(iii) Which of the following is a barrier in effective communication? 

(a) Linguistic clarity  

(b) Concreteness 

(c) Precision 

(d) Personal differences 

(iv) Which of the following shows a positive facial expression? 

(a) Frowning while concentrating 

(b) Maintaining eye contact 

(c) Smiling continuously 

(d) Rolling up yours eyes 

(v) What is a sentence? 

(a) A group of ideas 

(b) A group of words that communicate a complete thought. 

(c) A set of rules to write correctly 

(d) A set of words that is grammatically correct. 



3 
 

(vi) Which can be used to overcome the communication barrier? 

(a) Using a translator 

(b) By writing a letter  

(c) Not communicating at all 

(d) Using your own language 

3. Answer any 5 out of the given 6 questions      (1X5=5 marks) 

(i) The feeling of self-awareness enhance our_________ 

(a) Self-confidence 

(b) Self-Monitoring 

(c) Self-Regulation 

(d) All of the above 

(ii) Physical exercise is used as a stress management technique because  

(a) It improve blood circulation 

(b) Improves self-image 

(c) Make us feel better 

(d) All of the above 

(iii) ________ is not a symptom of stress? 

(a) Increasing sweating 

(b) Cold hands or feet 

(c) Dry mouth 

(d) None of these 

(iv) Students may feel ________ stress if they are unable to submit their 

assignment. 

(a) Physical 

(b) Financial 

(c) Mental 

(d) None of the above 

(v) Issues related to health of an individual can lead to low self-esteem and cause 

__________ stress. 

(a) Financial  

(b) Emotional 

(c) Mental 

(d) Physical 

(vi) Breathlessness, dry mouth, butterflies in stomach, indigestion etc are sign of 

__________ stress.  

(a) Mental 

(b) Physical 

(c) Both of the above 

(d) None of the above 
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4. Answer any 5 out of the given 6 questions      (1X5=5 marks) 

(i) Which of the following is not the sign of stress? 

(a) Headache 

(b) Mental fatigue 

(c) Blood Pressure 

(d) None of these 

(ii) Which of the following is the ability to organise and monitor ones own 

behaviour? 

(a) Self-regulation 

(b) Punctuality 

(c) Hard Work 

(d) None of these 

(iii) The official mascot of Linux operating system is __________ 

(a) Tux-The Penguin 

(b) Camel 

(c) Shark 

(d) None of the these 

(iv) Which of the following is not the type of file system? 

(a) FAT 

(b) MBR 

(c) NTFS 

(d) None of these 

(v) Which of the following is a feature of Android? 

(a) Open Source 

(b) Linux based 

(c) Both (i) and (ii) 

(d) None of these 

(vi) Which of the following is used to move the contents towards up-down or left-

right of a page? 

(a) Scroll Bar 

(b) Status Bar 

(c) Restore 

(d) None of these 

5. Answer any 5 out of the given 6 questions (1X5=5 marks) 

(i) Which of the following functions is not performed using a mouse? 

(a) Turn on 

(b) Hover 

(c) Right-click 

(d) Drag and Drop 
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(ii) What keys do you use to copy something? 

(a) Ctrl+X 

(b) Ctrl+C 

(c) Shift + X 

(d) Shift + C 

(iii) How can an antivirus protect your device? 

(a) It can protect it from overheating. 

(b) It can increase its performance. 

(c) It can prevent data from getting corrupt 

(d) It can backup data. 

(iv) What should you do to ensure secure online transactions? 

(a) Lock your computer 

(b) Give credit card or bank details only on safe websites  

(c) Use anti-virus 

(d) Do not use pirated software 

(v) What should a strong password consist of?  

(a) Only letters 

(b) Numbers and special characters  

(c) Name of a person 

(d) Letters, numbers and special characters  

(vi) Which of the following is not computer hardware? 

(a) RAM 

(b) Keyboard 

(c) Ms Paint 

(d) Monitor 

SECTION B: SUBJECTIVE TYPE QUESTIONS 

Answer any 3 out of the given 5 questions       (2x3=6 marks) 

Answer each question in 20-30 words. 

6. Explain the types of barriers in communication. 

7. What do you mean by Disk Defragmentation? 

8. Write any four functions of Operating system. 

9. What do you mean by the term self-regulation and self-motivation? 

10. Expand the following: 

(a) BOSS (b) FSF (c) GNU (d) NTFS 

Answer any 4 out of the given 6 questions in 20-30 words each   (2x4=8 marks) 

11.  What are the advantages of the ability to work independently? 

12. List the measures to overcome barriers in communication.  



6 
 

13. How does operating system act as messenger between hardware and application 

program? 

14. Differentiate between GUI and CUI. 

15. List the ways to prevent virus infection in a computer. 

16. What is the Purpose of the following Window Shortcuts keys: 

(a) Alt + Tab 

(b) Win + V 

 

Answer any 3 out of the given 5 questions in 50-80 words each   (4x3=12 marks) 

17. Write short notes on: 

(a) Firewall 

(b) Cookies 

(c) Real time operating system 

(d) Open Source OS 

18. What is a File System? List different categories of file system. 

19. What do you mean by communication? Explain communication cycle. 

20. What do you mean by self-awareness? Differentiate between Internal and External 

Self-Awareness. 

21. Explain 7C’s of communication. (Any 4) 
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DELHI PUBLIC SCHOOL 
SAIL TOWNSHIP, RANCHI 
QUALIFYING EXAMINATION (2024-25) 

 
  

Class - X                                                                            Subject – Mathematics  
Time –3 Hours                                                                Maximum Marks- 80 
   

 

General Instructions: 

Read the following instructions carefully and follow them  

(i) This question paper contains 38 questions. All questions are compulsory. 
(ii) This question paper is divided into FIVE Sections - Section A, B, C, D and E. 
(iii) In Section-A question number 1 to 18 are Multiple Choice Questions (MCQs) and question number 19 

and 20 are Assertion - Reason based questions of 1 mark each. 
(iv) In Section –B question number 21 to 25 are Very Short-Answer-I (SA – I) type questions of 2 marks 
 each. 
(v) In Section – C question number 26 to 31 or Short Answer – II (SA – II) type question carrying 3 marks 

each. 
(vi) In Section –D question number 32 to 35 is Long –Answer (LA) type questions carrying 5 marks each. 
(vii) In Section –E question number 36 to 38 are case study type questions carrying 4 marks each. 

 

 
 

SECTION - A 

1. The HCF of two distinct prime number is 
 a. 2    b. 0   c. either 1 or 2  d. 1 

2. The sum of the HCF and LCM of 12, 21 and 15 is 

 a. 423    b. 420   c. 417    d. 140 

3. The smallest number by which √27 should be multiplied so as to get a rational is 

 a. √27    b. 3√3   c. √3    d. 3 

4. For any natural numbers. 252𝑛 − 92𝑛 is always divisible by 

 a. 16    b. 34   c. both 16 and 34  d. None of these 

5. If one of the zeroes of the quadratic polynomial (𝑘 − 1)𝑥2 + 𝑘𝑥 + 1 𝑖𝑠 − 3, then the value of 
𝐾 is 

 a. 
4

3
    b. −

4

3
   c. 

2

3
    d. −

2

3
 

6. If 𝛼 𝑎𝑛𝑑 𝛽 are the zeroes of the polynomial 𝑝(𝑥) = 4𝑥2 + 3𝑥 + 7, then 
1

𝛼
+

1

𝛽
 is equal to  

 a. 
7

3
    b. −

7

3
    c. 

3

7
   d. −

3

7
 

7. A quadratic polynomial whose one zero is 6 and sum of the zeroes is 0 is  
 a.𝑥2 − 6𝑥 + 2   b. 𝑥2 − 36   c. 𝑥2 − 6 d. 𝑥2 − 3 

8. Which of the following is a quadratic polynomial having zeroes −
2

3
 and 

2

3
? 

 a. 4𝑥2 − 9   b. 
4

9
(9𝑥2 + 4)   c. 𝑥2 +

9

4
  d. 5(9𝑥2 − 4) 
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9. The value of 𝐾 for which the system of equations ,𝑥 + 2𝑦 = 5 𝑎𝑛𝑑 3𝑥 + 𝑘𝑦 + 15 = 0 has no 
solution is 

 a. 6    b. 
3

2
    c. 

3

2
   d. None of these 

10. The pair of linear equations 𝑦 = 0 𝑎𝑛𝑑 𝑦 = −5 has 
 a. one solution b. two solutions c. infinitely many solutions d. No solution 

11. The area of the triangle formed by the line 
𝑥

𝑎
+

𝑦

𝑏
= 1with the coordinate axes is 

 a. ab    b. 2ab    c. 
1

2
𝑎𝑏   d. 

1

4
𝑎𝑏 

12. If origin is the centroid of a triangle whose vertices are 𝐴(𝑥, 𝑦), 𝐵(𝑦, 𝑧)𝑎𝑛𝑑 𝐶(𝑧, 𝑥) then the 

value of 𝑥3 + 𝑦3 + 𝑧3 is. 
 a. 3yz    b. 3xy    c. 3zx   d. 3xyz 

13. The perimeter of a triangle formed by the points (0,0), (1,0) 𝑎𝑛𝑑 (0,1) is 

 a. 1 ± √2   b. √2 + 1   c. 2 + √2  d. None of these   

14. The line segment joining points (−3, −4)𝑎𝑛𝑑 (1, −2) is divided by 𝑌 − 𝑎𝑥𝑖𝑠 in the ratio 

 a. 1 : 3    b. 2 : 3    c. 3 : 1    d. 2 : 3 

15. If (𝑥, 2), (−3, −4)𝑎𝑛𝑑 (7, −5) are collinear, then 𝑥 is  
 a. 60    b. 63    c. -63   d. -60 

16. In ∆𝐴𝐵𝐶, 𝐷𝐸 ∥ 𝐵𝐶, 𝐴𝐷 = 4𝑐𝑚, 𝐴𝐵 = 9𝑐𝑚, 𝐴𝐶 =
13.5𝑐𝑚, 𝑡ℎℎℎℎℎhen the  𝑣𝑎𝑙𝑢𝑒 𝑜𝑓 𝐸𝐶 𝑖𝑠 ℎℎℎℎℎℎℎℎℎℎℎℎ  

 a. 6cm   b. 7.5cm    c. 9cm   d. None of these  

17. D and E are the midpoint of side AB and AC of triangle ABC, respectively and BC=6cm. If 
𝐷𝐸 ∥ 𝐵𝐶, then the length (in cm) of DE is  

 a. 3.5    b. 3    c. 5   d. None of these  

18. In ∆𝐴𝐵𝐶, 𝐷 𝑎𝑛𝑑 𝐸 are points on side 𝐴𝐵 𝑎𝑛𝑑 𝐴𝐶 respectively such that 𝐷𝐸 ∥ 𝐵𝐶 and 
𝐴𝐷: 𝐷𝐵 = 3: 1, If 𝐸𝐴 = 3.3𝑐𝑚, then 𝐴𝐶 =? 

 a. 1.1 cm   b. 4 cm   c. 4.4 cm  d. 5.5 cm 
 

ASSERTION-REASON BASED QUESTIONS 
In the following questions, a statement of assertion (A) is followed by a statement of 

Reason (R). 

Choose the correct answer out of the following choices. 

(a) Both A and R are true and R is the correct explanation of A. 

(b) Both A and R are true but R is not the correct explanation of A. 
(c) A is true but R is false. 

(d) A is false but R is true. 
 

19. (A): Two similar triangles are always congruent. 
 (R): Two Congruent triangles are always similar 

20. (A): If the system of equations 3𝑥 + 6𝑦 = 10 and 2𝑥 − 𝐾𝑦 + 5 = 0 is inconsistent, 𝐾 = −4 

 (R): The system of equations 𝑎1𝑥 + 𝑏1𝑦 + 𝑐1 = 0 and 𝑎2𝑥 + 𝑏2𝑦 + 𝑐2 = 0 is inconsistent iff, 

 
𝑎1

𝑎2
=

𝑏1

𝑏2
=

𝑐1

𝑐2
 

SECTION – B 

21. Prove that 5 + 7√3 is an irrational number, given that √3 is an irrational number. 
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22. If one zero of the polynomial 5𝑥2 + 13𝑥 − 𝑃 is reciprocal of the other, find P. 
OR 

 Find the zeroes of √3𝑥2 + 10𝑥 + 7√3. 

23. Solve for 𝑥 𝑎𝑛𝑑 𝑦: 
 47𝑥 + 31𝑦 = 63, 31𝑥 + 47𝑦 = 15 

OR 
 Solve for 𝑥 𝑎𝑛𝑑 𝑦 by using substitution method ,𝑥 + 3𝑦 = 6, 2𝑥 − 3𝑦 = 12 

24. Using Thales theorem or its converse, prove that the line drawn from the mid-point of one 
side of a triangle parallel to another side, bisects the third side. 

 

25. Find a relation between 𝑥 𝑎𝑛𝑑 𝑦 such that the point (𝑥, 𝑦) is equidistant from the points 
(3,6)𝑎𝑛𝑑 (−3,4). 

SECTION – C 

26. Prove that √7 is irrational. 

27. Find the smallest number which leaves remainders 8 and 12 when divided by 28 and 32 

respectively . 
OR 

 Find the greatest number of 6 digits exactly divisible by 24, 15 and 36. 

28. Find the zeroes of the polynomial 𝑓(𝑥) = 4√3𝑥2 + 5𝑥 − 2√3 and verify the relationship 
between the zeroes and its coefficients. 

 

29. Two candles of equal height but different thickness are lighted. The first burns off in 6 

hours and the second in 8 hours. How long after lighting both, will the first candle be half 
the height of the second? 

 

30. If the diagonals of a quadrilateral divided each other proportionally, prove that it is a 
trapezium.  

 
 

31. If two vertices of a parallelogram are (3,2), (-1,0) and the diagonals cut at (2, -5), find the 
other vertices of the parallelogram. 

OR 
 Find the ratio in which the line 2𝑥 + 3𝑦 − 5 = 0 divides the line segment joining the points 

(8, −9) and (2,1). Also find the coordinates of the point of division. 

 
SECTION – D 

32. If 𝛼 𝑎𝑛𝑑 𝛽 are the zeroes of the quadratic polynomial 𝑓(𝑥) = 𝑎𝑥2 + 𝑏𝑥 + 𝑐 then evaluate. 

 i. 
1

𝑎𝛼+𝑏
+

1

𝑎𝛽+𝑏
     ii. 𝑎 (

𝛼2

𝛽
+

𝛽2

𝛼
) + 𝑏 (

𝛼

𝛽
+

𝛽

𝛼
) 

33. Solve the following system of linear equations 𝑥 − 𝑦 = 1 𝑎𝑛𝑑 2𝑥 + 𝑦 = 8 graphically. Find 
the area bounded by these two lines and Y-axis. 

 
34.   (A) i. If the centroid of the triangle formed by points P(𝑎, 𝑏), Q(𝑏, 𝑐) and 𝑅(𝑐, 𝑎) is at the origin. 

What is the value of  𝑎 + 𝑏 + 𝑐? 
  ii. Find the coordinates of the point where the perpendicular bisector of the line segment 

      joining the points 𝐴(1,5) and 𝐵 (4,6) cuts the 𝑦 − 𝑎𝑥𝑖𝑠 

OR 
  (B) The two opposite vertices of a square are (−1,2) 𝑎𝑛𝑑 (3,2). Find the coordinates of the      

    other two vertices. 
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35. State and prove Basic proportionality theorem. 
OR 

 In figure 𝐴𝐵 ∥ 𝑃𝑄 ∥ 𝐶𝐷, 𝐴𝐵 = 𝑥 𝑢𝑛𝑖𝑡𝑠, 𝐶𝐷 = 𝑦 𝑢𝑛𝑖𝑡𝑠 𝑎𝑛𝑑 𝑃𝑄 = 𝑧 𝑢𝑛𝑖𝑡𝑠 . Prove that 
1

𝑥
+

1

𝑦
=

1

𝑧
 

 

 
 
 
 

 
 

SECTION -E 
 

36. Read the following text and answer the following Questions. 

 A morning walk may help improve your mental clarity and ability to focus throughout the 

day. A recent study found that amongst older adults, those who started their days with a 
morning walk improved their cognitive function, compared to those who remained 
sedentary. Walking may also help you think more creatively. In a morning walk three 

students step off together, their steps measure 80 cm, 85 cm and 90 cm respectively. 
 A. Find the HCF of 80 and 90?          (1) 

 B. Find the minimum distance each should walk so that he can cover the distance in 
 complete steps?            (2) 

                    OR 
 B. Find the product of HCF and LCM of 80, 85 and 90?       
 C. Find the sum of exponents of the prime factors of total distance.     (1) 
 

37. Read the following text and answer the following questions . 

 In order to conduct Sports Day activities in your School, lines have been drawn with chalk 
powder at a distance of 1m each, in a rectangular shaped ground ABCD, 100 flowerpots 
have been placed at a distance of 1m from each other along AD, as shown in given figure 

below. Niharika runs 1/4th the distance AD on the 2nd line and posts a green (G) flag. 
Preet runs 1/5th distance AD on the eighth line and posts a red (R) flag. 

 
 

 
 
 

 
 

 
 

 
 
 

 
 A. Find the position of green flag.         (1) 

B. If Joy has to post a flag at one-fourth distance from green flag, in the line segment joining 
the green and red flags, then where should he post his flag?     (2) 

                   OR 
 B. If Rashmi has to post a blue flag exactly halfway between the line segment joining the 

 two flags, where should she post her flag?     

 C. Find the distance between both the flags?         (1) 
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38. Read the following text and answer the following questions . 

 SCALE FACTOR AND SIMILARITY 

 SCALE FACTOR 
 A scale drawing of an object is of the same shape as the object but of a different size.  
 The scale of a drawing is a comparison of the length used on a drawing to the length it 

represents . 
 The value of scale is written as a ratio. 

 SIMILAR FIGURES 
 The ratio of two corresponding sides in similar figures is called the scale factor. 
 

 Scale factor = 
𝑙𝑒𝑛𝑔𝑡ℎ 𝑖𝑛 𝑖𝑚𝑎𝑔𝑒

𝑐𝑜𝑟𝑟𝑒𝑠𝑝𝑜𝑛𝑑𝑖𝑛𝑔 𝑙𝑒𝑛𝑔𝑡ℎ 𝑖𝑛 𝑜𝑏𝑗𝑒𝑐𝑡
 

 
If one shape can become another using Re-sizing then the shapes are similar. 

Hence two shapes are similar when one can become the other after a re-size, flip, slide or 
turn. 

 
A. A model of a boat is made on the scale of 1 : 4. The model is 120 cm long. The full size of 

the boat has a width of 60 cm. Find the width of the scale model?    (2) 
 

      OR 
A. The shadow of a stick 5 m long is 2 m. At the same time find the shadow of the tree if 

 tree is 12.5 m high.          
   
 

B. If two similar triangles have a scale factor of a:b, which statement regarding the two  
     triangles is true?            (1) 

      i. The ratio of their perimeters is 3a:b 
     ii. Their altitudes have a ratio a:b 

    iii. Their medians have a ratio 
𝑎

2
: 𝑏 

   iv. Their angle bisectors have a ratio 𝑎2: 𝑏2 

C. What will effect the similarity of any two polygons?      (1) 
      i. They are flipped horizontally 

     ii. They are dilated by a scale factor 
    iii. They are translated down 
   iv. They are not the mirror image of one another. 
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DELHI PUBLIC SCHOOL 
SAIL TOWNSHIP, RANCHI 

QUALIFYING EXAMINATION   (2024-25) 

 
Class - X                                                                                    Subject – Science  
Time – 3 Hours                                                                        Maximum Marks- 80 
   

 

General Instructions: 

i. This question paper consists of 39 questions in 5 sections. 

ii. All questions are compulsory. However, an internal choice is provided in some questions. A 

student is expected to attempt only one of these questions. 

iii. Section A consists of 20 objective type questions carrying 1 mark each. 

iv. Section B consists of 6 Very Short Answer questions carrying 02 marks each. Answers to these 

questions should be in the range of 30 to 50 words. 

v. Section C consists of 7 Short Answer type questions carrying 03 marks each. Answers to these 

questions should be in the range of 50 to 80 words. 

vi. Section D consists of 3 Long Answer type questions carrying 05 marks each. Answer to these 

questions should be in the range of 80 to 120 words. 

vii. Section E consists of 3 source-based/case-based units of assessment of 04 marks each with sub-

parts. Internal choice is provided in one of these sub parts. 

 

SECTION A    [1x20=20] 

1. In the equation Cu +  xHNO3→ Cu (NO3)2 + yNO2 +2H2O , the value of x and y are:    

(a) 3 and 5 

(b) 8 and 6 

(c) 4 and 2 

(d) 7and 1             [1] 

2. A student while burning a magnesium ribbon in air, collected the product in a wet watch glass. 

The new product obtained was: 

(a) Magnesium oxide 

(b) Magnesium carbonate 

(c) Magnesium hydroxide 

(d) Magnesium chloride           [1] 

3. Give the ratio in which hydrogen and oxygen are present in water by volume                           

(a) 1:2 

(b) 1:1 

(c) 2:1 

(d)  1:8              [1] 
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4. What is the chemical formula of Quick lime                                                                                     [1] 

(a) CaO 

(b) Ca(OH)2 

(c) CaCO3 

(d) CaCl2 

5. Which of the following will turn red litmus blue            [1] 

(a) Vinegar 

(b) Baking soda solution 

(c) Lemon juice 

(d) Soft drinks 

6. Farmers neutralise the effect of acidity on the soil by adding                                                         [1] 

(a) Slaked lime 

(b) Gypsum 

(c) Caustic soda 

(d) Baking soda 

7. What happens when a solution of an acid is mixed with a solution of base in a test tube         [1] 

(i) The temperature of the solution increases 

(ii) The temperature of the solution decreases 

(iii)The temperature of the solution remains the same 

(iv) Salt formation takes place 

(a) (i) only 

(b) (i) and (ii) 

(c) (ii) and (iii) 

(d) (i) and (iv) 

8. When we consume lime juice while eating , then       [1] 

(a) Action of ptyalin on starch is enhanced. 

(b) Action of ptyalin on starch stops. 

(c) Action of ptyalin on starch is unaffected. 

(d) Action of ptyalin on starch is reduced. 

9. (i),(ii),(iii) and(iv) represent mouth cavity, liver , first part of small intestine and complete small 

 intestine respectively of Human digestive system. 

Match the labelling referred in Column I and correlate with the function in Column II  [1] 
 

Column I Column II 

i a. The length of this depends on the food the organism eats. 

ii b. Initial phase of starch digestion. 

iii c. Increase the efficiency of lipase enzyme action. 

iv d. This is the site of the complete digestion of carbohydrates, proteins and 
fats. 

 

(a) i- c; ii- d; iii- a; iv-d 

(b) i- b; ii-c; iii- d; iv- a 

(c) i- a; ii-c; iii –d; iv- b 

(d) i-d; ii-a; iii- b; iv-c 
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10. Carefully study the diagram of the human respiratory system with labels (a), (b), (c) and (d). 

Select the option which gives correct identification and main function and /or characteristic.  

 

 

 

 

 

 

 

 

 

 

 

(a) Trachea: It is supported by bony rings for conducting inspired air.  

(b) Ribs: When we breathe out, ribs are lifted.  

(c) Alveoli: Thin-walled sac like structures for exchange of gases.  

(d) Diaphragm: It is pulled up when we breathe in.      [1] 
 

11. Pepsin differs   from trypsin in that it digests       [1] 

(a) Proteins in alkaline medium in stomach. 

(b) Proteins in acidic medium in duodenum.  

(c) Proteins in acidic medium in stomach. 

(d) Protein in alkaline medium in duodenum. 

12. In photosynthesis oxygen is liberated due to       [1] 

(a) Hydrolysis of carbohydrates. 

(b) Breakdown of proteins. 

(c) Hydrolysis of water. 

(d) Reduction of carbon di oxide. 

13. Rahul conducts an experiment using an object of height of 10 cm and a concave lens with a 

focal length of 20 cm. The object is placed at a distance of 25 cm from the lens. Can the image 

be formed on a screen?                                                            [1]  

(a) Yes, as the image formed will be real 

(b) Yes, as the image formed will be erect 

(c) No, as the image formed will be virtual 

(d) No, as the image formed will be inverted 

14. The image of an object placed in front of a convex mirror is formed at,            [1]  

(a) the object itself 

(b) twice the distance of the object in front of the mirror 

(c) half the distance of the object in front of the mirror 

(d) behind the mirror 
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15. Oxygen saturation levels refer to the extent haemoglobin is bound to oxygen. As altitude 

increases, the atmospheric pressure decreases.  Which of the following graphs correctly 

represents the oxygen saturation levels as altitude increases?            [1] 

 

 
 

(a) P     (b) Q     (c) R     (d) S 

16. A student set up the apparatus for the experiment to show CO2 is released during respiration. 

After two hours, he would observe that        [1] 

(a) KOH turns milky. 

(b) Water level rises in the bent tube in the beaker. 

(c) Water level decreased in the bent tube in the beaker. 

(d) Water turns turbid in the beaker. 

Following questions consist of two statements – Assertion (A) and Reason (R).Answer these 
questions selecting the appropriate option given below:                
(a) Both A and R are true and R is the correct explanation of A 
(b)  Both A and R are true but R is not the correct explanation of A 
(c) A is true but R is false 
(d) A is false but R is true 
 

17. Assertion (A): Decomposition of vegetable matter into compost is an example of exothermic 
          reactions. 

Reason(R): Exothermic reactions are those reactions in which heat is absorbed.    [1] 

18. Assertion (A): Amoeba takes in food using finger like extensions of the cell surface.             

 Reason (R): In all unicellular organisms, the food is taken in by the entire cell surface.  [1] 
 

19. Assertion (A) : For observing traffic at back, the driver mirror is convex mirror. 

Reason (R) : A convex mirror has much larger field of view than a plane mirror.   [1] 

20. Assertion (A): Raw materials needed for photosynthesis are carbon di oxide, water and      
          minerals.                    

      Reason (R): Nutrients provide energy to an organism.       [1] 
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SECTION B [2x6=12] 

21. In the reaction MnO2 + 4HCl → MnCl2 + Cl2 + 2H2O 

Name the substance oxidised,substance reduced, oxidizing agent and reducing agent . 

                                                           OR 
When you mix soiutions of lead nitrate and potassium iodide, 

(i) What is the colour of the precipitate formed? Write its chemical name. 

(ii) Write a balanced chemical equation for the above reaction.                                         [2] 

22. (a) A variegated leaf with green and yellow patches is used for an experiment to prove that 

chlorophyll is required for photosynthesis. Before the experiment the green portions (A) 

and the pale yellow portions (B) are marked. What will be the colour of (A) just before and 

after the starch test.               

       (b) List any two adaptations of leaf for photosynthesis.          [1+1=2] 

23. (a) How do Paramecium obtain their food?        [2] 

(b) “All plants give out oxygen during the day and carbon di oxide during the night.” Do you 

agree with the statement? Give reason. 

OR 

Differentiate between the mode of nutrition in Rhizopus and Cuscuta? 

24. Identify the device used as a spherical mirror or lens in the following cases, when the image 

formed is virtual and erect in each case.                         

(a)  Object is placed between the device and its focus, and an image formed is enlarged and 

 behind it. 

(b)  Object is placed between the focus and device, and an image formed is enlarged and on the 

 same side as that of the object. 

(c)  Object is placed between infinity and device, an image formed is diminished and between 

 focus and optical centre on the same side as that of the object. 

(d)  Object is placed between infinity and device, image formed is diminished and between 

 pole and focus, behind it.                                                                      [2]  

25. A student performs the experiment with a convex lens and he marked the table between image 
distance (v) and object distance (u). 

S. No Object distance (u) in cm  Image distance (v) in cm  

1 - 90 + 18  

2 - 60 + 20  

3 - 30  + 30  

4 -20  +60 

5 - 10  + 100  

On the basis of the above table, give the answer of following questions. 

(a) What is the focal length of the convex lens? 

(b) Which of the above observation is wrong in the table and why?    [2]  

26. How are the alveoli designed to maximisie the exchange of gases?    [2] 
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SECTION C [3x7=21] 

27. You are provided with two metals X and Y. Metal X is used for galvanization whereas Y is 

used in making electrodes. When a strip of metal X is immersed in a blue coloured solution of 

YSO4, a layer of metal Y from the salt solution is deposited on the strip of metal X.  [3] 

(a) Predict the metals X and Y. 

(b) Write the chemical equation of the reaction involved. 

(c) What is the type of chemical reaction taking place? 

28. (a) While diluting a mineral acid why is it recommended to add acid  slowly to water and not 
water to acid. Explain.          

   (b) Why does an aqueous solution of an acid conduct electricity?     [1.5 +1.5] 

. (a) Why is smoking injurious to health?    

      (b) What is the respiratory pigment in human beings and why is it needed?  
(c) Why are valves present in the heart        [1+1+1=3] 

30. Give reason           [1+1+1=3] 

(a) ATP is called the energy currency of the cell. 

(b) Trachea does not collapse if there is no air in it. 

(c) Glottis is covered by epiglottis. 

31. List the three Cartesian sign convention for reflection of light by spherical mirror.   [3] 

32. At what distance from a concave lens of focal length 20 cm, a 6 cm tall object be placed so as to 
obtain its image at 15 cm from the lens? Also calculate the size of the image formed. Draw a 
ray diagram to justify your answer for the above situation and label it.                [3]                                                                      

                                                     OR  
A real image, 4/5 size of the object, is formed at a distance of 18 cm from a lens. Calculate the 
focal length of the lens. Draw a ray diagram to justify your answer for the above situation and 
label it. 

 

33. It is desired to obtain an erect image of an object, using concave mirror of focal length of 12 cm. 

  (i) What should be the range of distance of an object placed in front of the mirror? Will the   
image be smaller or larger than the object? 

(ii) Where will the image of this object be formed, if the object is placed 24 cm in front of the 
 mirror? Draw ray diagram for this situation also to justify your answer.          [1+2=3]      

 
 

SECTION D [5x3=15] 

34. A white powder is used by doctors to support fractured bones.           [1+1+1+1+1] 

(a) Write the name and chemical formula of the powder. 

(b) How is this powder prepared? Give the balanced chemical equation. 

(c) When this white powder is mixed with water, a hard solid mass is obtained. Write a 
balanced chemical equation for this change. 

(d)  Write one more use of this white powder. 
(e) What is water of crystallization? 

           OR 
34. (a) What do you understand by the term pH of a solution?    [1+1+1+2] 

(b) What is the pH of distilled water and common salt solution? 
(c) What effect does the concentration of H+ ions have on the nature of the solution? 

(d) What are strong and weak acids? Give examples. 
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35. (a) Show the schematic representation of double circulation in human beings.  [3+1+1=5] 
(b) Why are amphibians called cold blooded animals? 
(c) Fishes have single circulation. Justify. 

         OR 
(a) Draw the section of human heart. Name and label the following on the diagram    

 (i) blood vessel which brings oxygenated blood from the lungs to the heart 
(ii) chamber that receives deoxygenated blood from various part of the body. 
(iii) part that prevents the mixing of oxygenated and deoxygenated blood.  

(b) “Breathing cycle is rhythmic whereas exchange of gases is a continuous process.”Justify 

(c)  What is the importance of double circulation in Aves? 

36. (a) With the help of a ray diagram state what is meant by refraction of light. State Snell’s law 

 for refraction of light and also express it mathematically. 

(b) (i) What is meant by the power of a lens ? What is its S.I. unit?                                        

(ii) The image of an object formed by a lens is real, inverted and of the same size as the 

object. If the image is at a distance of 40 cm from the lens, what is the nature and power 

of the lens? Draw ray diagram to justify your answer.             [2+3= 5]  

                                                 OR  

(a) Define the terms Principal focus in the context of spherical mirrors. Draw ray diagrams to 

 show the principal focus of a (i) Concave mirror (ii) Convex mirror.  

(b) An object 4.0 cm in size is placed 25.0 cm in front of a concave mirror of focal length 15.0 

 cm. 

(i) At what distance from the mirror should a screen be placed in order to obtain a sharp 

      image? 

(ii) Find the size of the image. 

SECTION E. (Case study type question) 

37. Rancidity and corrosion are examples of oxidation reactions in everyday life. You must have 

 observed that iron articles are shiny when new, but get coated with a reddish brown 

 powder when left for some time. Some other metals also get tarnished in this manner. Have 

 you ever noticed the colour of the coating formed on copper and silver? The black coating  on 

 silver and green coating on copper are other examples of corrosion.    [4]

 1. What is rusting?  

2. Write any two ways to prevent rusting. 

3. What are antioxidants? 

4. What is the chemical composition of green coating formed on iron articles. 

          OR 
4. Oil and fat containing food items are flushed with nitrogen gas. Why? 

38. Human beings are omnivorous in nutrition. Like other multicellular animals,humans have a 
digestive system for nutrition .The digestive system forms a continous canal called alimentary 
canal. 
(a) Bile is not an enzyme still it is important for digestion. Comment    [1] 

(b) What is the role of anal sphincter?        [1] 

(c) How is the food pushed forward in the alimentary canal?     [2] 

OR 
(c) Enlist any two functions of the gastric glands present in the walls of the stomach. 
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39. The phenomenon in which light ray bends or changes its direction when traveling from one 

 medium to other is called as refraction of light. And also we can observed that if the ray of 

 light is traveling from rarer medium to denser medium it bends towards the normal  whereas 

 when the ray of light travels from denser medium to rarer medium it bends away from the 

 normal. And the extent of bending of light in a particular medium depends on the refractive 

 index of the medium mostly. More the refractive index more is the bending or denser is the 

 medium and less will be the velocity of light in that medium.  

 If less is the refractive index then less will be the bending or medium is rarer and velocity of 

 light will be more in that medium. Thus, for different media refractive index is different 

 and accordingly the velocity of light is also different                      [1+1+2=4]  

(a)  Water has refractive index 1.33 and alcohol has refractive index 1.36. Which of the two 

medium is optically denser? Give reason for answer.  

(b) How is the refractive index of medium is related to speed of light. Give its mathematical 

expression.   

 (c) The refractive indices of glass and water with respect to air are 3/2 and 4/3 respectively. If 

 speed of light in glass is 2 × 108 m/s, find the speed of light in water. 

     OR 

(c) If the speed of light in vacuum is 3 × 108 m/s, find the absolute refractive index of a 

 medium in which light travels with a speed of 1.4 × 108 m/s.  
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DELHI PUBLIC SCHOOL 
SAIL TOWNSHIP,RANCHI 
QUALIFYING EXAMINATION (2024-25) 

 
  

Class - X         Subject – Social Science  
Time –3 Hours         Maximum Marks- 80 
   

General Instructions:  
1. The question paper comprises Six Sections – A, B, C, D, E and F. There are 37 questions in the 
Question paper. All questions are compulsory.  
2. Section A – From questions 1 to 20 are MCQs of 1 mark each.  
3. Section B – Question no. 21 to 24 are Very Short Answer Type Questions, carrying 2 marks 
each. Answer to each question should not exceed 40 words.  
4. Section C - Question no. 25 to 29 are Short Answer Type Questions, carrying 3 marks each. 
Answer to each question should not exceed 60 words.  
5. Section D – Question no. 30 to 33 are long answer type questions, carrying 5 marks each. 
Answer to each question should not exceed 120 words.  
6. Section-E - Questions no from 34 to 36 are case based questions with three sub questions and 
are of 4 marks each. Answer to each question should not exceed 100 words.  
7. Section F – Question no. 37 is map based, carrying 5 marks with two parts, 37a from History (2 
marks) and 37b from Geography (3 marks).  
8. There is no overall choice in the question paper. However, an internal choice has been provided 
in few questions. Only one of the choices in such questions have to be attempted.  
9. In addition to this, separate instructions are given with each section and question, wherever 
necessary.  
 

SECTION A 

MCQs (1X20=20)                                                                                                   

1. Who was known as the architect of Germany 

(a) Cavour 

(b) Garibaldi 

(c) Otto Von Bismark 

(d) Metternich             [1] 

2. Consider the following statements on laterite soil and choose the correct option.         

I. The laterite soil develops under tropical and subtropical climate with alternate wet and 

dry season.  

II. This soil is the result of intense leaching due to low rain.  

III. Lateritic soils are mostly deep to very deep, acidic, generally deficient in plant nutrients. 

IV. This soil occurs mostly in northern states, Western Ghats region of Maharashtra, Odisha, 
some parts of West Bengal and North-east regions. 

Options: 

(a)  I and II  
(b) II and III 
(c) I and III 
(d) I and IV             [1] 
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3. Which one of the following Italian states was ruled by an Italian princely house? 

(a) Papal states 
(b) Lombardia 
(c) Kingdom of Sicilies 
(d) Sardinia –Piedmont           [1] 

4. Sri Lanka is an island nation, just few kilometres from the Southern coast of  

(a) Goa  

(b) Kerala  

(c) Tamil Nadu  

(d) Lakshdweep             [1] 

5. If industrialists want more dams, the local people resist because they will be displaced. 

 Which aspect of development is being reflected in this situation? 

(a) Different people have different development goals. 

(b) Different people have common development goals. 

(c) Different people have conflicting development goals.       

(d) None of these.            [1] 

6. Marianna was the allegory of? 
(a) Germany 

(b) Britain  

(c) Italy 

(d) France             [1] 

7. Who among the following was the founder of the secret society known as Young Europe  

(a) Giuseppe Mazzini 

(b) Giuseppe Garibaldi 

(c) Count Cavour 

(d) Otto von Bismark            [1] 
 

8. Match the Column I with Column II and choose the correct option:     

Column I Column II 

A. Sunderbans National Park i.  Kerala 

B. Bandhavgarh National Park ii. West Bengal 

C. Corbett National Park  iii. Madhya Pradesh 

D. Periyar Tiger Reserve iv. Uttarakhand  

Options: 

(a)  A-ii,   B-iv,    C-i,     D-iii 

(b)  A-ii,   B-iii,    C-iv,   D-i 

(c) A-iii,   B-i,      C-iv,   D-ii 

(d) A-ii,    B-i,      C-iv,   D- iii                   [1] 

 

 

 



3 
 

 

9. Which state has the largest area under permanent forests?             

(a) Madhya Pradesh 
(b) Uttar Pradesh  
(c) Bihar 
(d) Assam             [1] 

10. Which of the following language is not spoken among the people of Belgium? 

(a) German  

(b) French  

(c) Spanish  

(d) Dutch             [1] 

11. Identify the correct statements about the theory of federalism in the Indian constitution. 

I. The constitution declared India as a Union of states. 

II. Sharing of power between the union Government and the state government is basic to the 

 structure of the constitution  

III. It is easy to make changes to this power sharing arrangement  

IV. The Parliament can on its own change this arrangement  
 

Codes : 

(a) All the statements are correct 

(b) I, II and III are correct  

(c) I and  II are correct 

(d) I and III are correct            [1] 

12. Identify the form of government shown in the cartoon  

 

(a) Coalition government  
(b) Government formed by alliance of different parties 
(c) State party government  
(d) Both a and b            [1] 

13. Arrange the following events according to its occurrence  

i. States on the basis of language were created  
ii. Rise of regional political parties leading to coalitions  
iii. India’s  journey as a democracy begins  

iv. Central government agrees to continue the use of English  

(a) iii,ii, I,iv 
(b) iii,i,iv,ii 
(c) i, iii, iv, ii 
(d) iv,i, iii, ii             [1] 
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14. Which one of the following religion was promised to be fostered by the Sri Lankan constitution  

in 1956 

(a) Christianity 

(b) Islam  

(c) Hinduism  

(d) Buddhism             [1] 

15. If the Body Mass Index (BMI) is _________ then the adult person would be considered 

undernourished.    

(a) less than 18.5 

(b) less than 10.5 

(c) less than 25.5 

(d) less than 28.5            [1] 

16. Analyze the terms carefully and choose the incorrect one from the following: 

(a)  Per Capita Income- This is the total income of a country divided by total population. 
(b)  Life Expectancy at Birth- This is the number of years a newborn child is expected to live at 

the prevailing conditions. 
(c) Literacy Rate- This is the total percentage of the population of an area aged 15 years or 

above, who can read and write with understanding at least one language. 
(d) Net Attendance Ratio- The total number of children enrolled in or attending Primary 

School as a percentage of total number of children of primary school age.    [1] 
 

 

17. Which among the following is not a public facility?    

(a) Transport and electricity 
(b) Roads and bridges 
(c) Private schools 

(d) Government hospitals           [1] 

18. ATM Service is an important activity of which sector? 

(a) Primary sector 

(b) Secondary sector 

(c) Tertiary sector 

(d) None of these           [1] 
 

19. Mining is an example of which sector? 

(a) Primary 

(b) Secondary 

(c) Tertiary 

(d) Services            [1] 

20. Suppose there are four families in your locality, the average per capita income of whom is Rs. 

10,000. If the income of three families is Rs. 6,000, Rs. 8,000 and Rs. 14,000 respectively. What 

would be the income of the fourth family? 

(a) Rs. 5,000 

(b) Rs. 10,000 

(c) Rs. 12,000 

(d) Rs. 15,000             [1] 
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SECTION B 
VERY SHORT ANSWER QUESTIONS (2X4=8) 

21. (a) Describe the role played by Giuseppe Garibaldi in the unification of Italy    [2] 

   OR 
(b) Define Zolleverin. Explain its objective. 

22. (a) Why is biodiversity important for human lives? Explain with example.          [2] 

OR   
      (b) Why do we need to conserve our forests and wildlife? 

23. For development, people look at a mix of goals.” Give a suitable example to justify the given 

 statement.                  [2] 

24. (a) Explain the dual objectives of federalism         [2] 

OR  

(b) Differentiate between the two types of federalism with examples for each  

SECTION C 
SHORT ANSWER-BASED QUESTIONS (3X5=15) 

25. How did Britain came into existence as a a nation state? Explain.          [3] 

26. Mention any three physical factors as well as three human factors which determine the use of 

land in India.                      [3] 
 

27.  Explain the language policy of Indian federation.              [3] 
 

28. Differentiate between UNDP's and World Bank's criteria to compare countries development. 

              [3] 
 

29. All the three sectors of economy are interdependent. Explain their interdependence, taking any 

suitable example.                         [3] 

 

SECTION D 

LONG ANSWER-BASED QUESTIONS (5X4=20) 

30. (a) How did culture play an important role in creating the idea of the ‘nation' in Europe?  

  Explain with examples                   [5] 

OR  

(b) “Napoleon had destroyed democracy in France but in the administrative field he had 

incorporated revolutionary principles in order to make the whole system more rational and 

efficient “. Analyse the statement with arguments  

31. (a) “Human activities have contributed significantly in land degradation”.  Justify the  

 statement with five suitable examples.                 [5] 

OR                  
  (b) Describe any five features of arid soils. 

 

32. (a) Explain different forms of power sharing in modern democratic government.          [5] 

OR  

(b) Why power sharing is desirable in modern democracy? 
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33. (a)  (i) ‘Money in your pocket cannot buy you all the goods and services that you need to live 

  well’. Exemplify the given statement.                 

  (ii) Highlight three advantages of public facilities.     [2+3=5] 

                           OR 

(b) “The future generation may not have sufficient resources as compared to the present 

 generation.” In context with the given statement, explain sustainable development and 

 suggest three  measures to encourage sustainable development.  
 

SECTION - E 

CASE-BASED QUESTIONS (4X3=12) 

34. Read the source given below and answer the questions that follow.     [4] 

What we know today as Germany, Italy and Switzerland were divided into kingdoms, Duchies 

and Cantons whose ruler had their autonomous territories. Eastern and Central Europe were 

under autocratic Monarchies within the territories of which lived diverse peoples. They did not 

see themselves as sharing a collective identity or a common culture. Often, they even spoke 

different languages and belonged to different ethnic groups. The Habsburg Empire that ruled 

over Austria-Hungary, for example, was a Patchwork of many different regions and peoples. It 

included the Alpine regions-the Tyrol, Austria and The Sudetenland as well as Bohemia, 

where the aristocracy was predominantly German speaking. It also Included the Italian 

speaking provinces of Lombardy and Venetia. In Hungary, half of the population spoke 

Magyar while the other half spoke a variety of dialects. In Galicia, the aristocracy spoke Polish. 

Besides these three dominant groups, there also lived within the boundaries of the empire, a 

mass of subject peasant peoples Bohemians and Slovaks to the North, Slovenes in Carniola, 

Croasts to the South and Roumans to the East in Transylvania. Such differences did not easily 

promote a sense of political unity. The only tie binding these diverse Groups together was a 

common allegiance to the emperor. 

34.1. What was the reason behind Germany, Italy and Switzerland not being a nation state till 

the mid 18th Century?                  [1] 

34.2. Was there any nation – state in Europe till the mid 18th Century?                    [1] 

34.3. “The Habsburg Empire that ruled over Austria-Hungary, for example, was a Patchwork 

     of many different regions and peoples.” Elucidate.                [2] 

35. Read the following source and answer the questions that follow:              [4] 
Community and Conservation 

Conservation strategies are not new in our country. We often ignore that in India, forests are 
also home to some of the traditional communities. In some areas of India, local communities 
are struggling to conserve these habitats along with government officials, recognising that only 
this will secure their own long-term livelihood. In Sariska Tiger Reserve, Rajasthan, villagers 
have fought against mining by citing the Wildlife Protection Act. In many areas, villagers 
themselves are protecting habitats and explicitly rejecting government involvement. The 
inhabitants of five villages in the Alwar district of Rajasthan have declared 1,200 hectares of 
forest as the Bhairodev Dakav ‘Sonchuri’, declaring their own set of rules and regulations 
which do not allow hunting, and are protecting the wildlife against any outside 
encroachments.   
 

35.1. How are forests important for the traditional communities?              [1] 

35.2. What was the main thrust of ‘Indian Wildlife Protection Act’?             [1] 

35.3. How have communities conserved and protected wildlife in India?            [2] 
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36. Read the following source and answer the questions that follow:     [4] 

Panchayati Raj 

"We need to give more power to the panchayats to realise the dream of Mahatma Gandhi and 

the hopes of the makers of our Constitution, Panchayati Raj establishes true democracy. It 

restores power to the only place where power belongs in a democracy in the hands of the 

people. Giving power to Panchayats is also a way to reduce corruption and increase 

administrative efficiency. When people participate in the planning and implementation of 

developmental schemes, they would naturally exercise greater control over these schemes. 

This would eliminate the corrupt middlemen. Thus, Panchayati Raj will strengthen the 

foundations of our democracy." 

36.1. How does giving power to Panchayats relate to the vision of Mahatma Gandhi?          [1] 

36.2. Explain the primary objective of giving power to the Panchayats.              [1] 

36.3. How does the establishment of Panchayati Raj contribute to democracy? Explain.          [2] 

 
   

SECTION - E 
 

   MAP BASED QUESTIONS (2+3=5) 
37.  (a)  

(i) The place where the Jalianwala Bagh incident happened.      [1] 

(ii) The place where the congress session of December 1920 took place.     [1] 

(b) Four features A, B, C and D have been marked on the given political outline map of India.  
Identify them with the help of given information and write their correct name of any three 

on the lines drawn near them:             [1x3=3]                                                      
A. Type of soil 
B. Type of soil 
C. Type of soil 
D. Type of soil 
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DELHI PUBLIC SCHOOL 
SAIL TOWNSHIP, RANCHI 
QUALIFYING EXAMINATION (2024-25) 

 
  

Class - X                                                                            Subject – Spanish  
Time –3 Hours                                                                Maximum Marks- 80 
   

 

1.  Comprensión                                                                     [10] 

 

                        Ruta turística por España 

Hola Carlos! ¿Cómo estás? Yo acabo de viajar por algunas ciudades de España durante una 

semana. El domingo salí de mi casa en el centro de la ciudad de Granada y fui caminando a pie 

hasta La Alhambra. Tras la caminata, llegué al palacio árabe a las diez de la mañana. Tuve tiempo 

de verlo todo antes de coger el autobús de las cinco de la tarde para llegar hasta el aeropuerto. Mi 

avión, con destino a las Islas Canarias, salió a las nueve y cuarto de la noche. 

En mi viaje por las islas, pude visitar el Teide en Tenerife. Desde allí me subí a un barco que me 

llevó navegando a la isla de Gran Canaria, ¡las playas son increíbles! 

El martes por la mañana a las nueve menos veinte, el avión despegó rumbo a Madrid. Cuando 

aterrizamos en el aeropuerto de la capital española tuve que coger el metro para hacer una visita 

al Museo del Prado. La visita a Madrid fue corta porque mis padres me esperaban en Barcelona 

para pasear por el Parque Güell de Gaudi. No me gusta mucho el avión, así que preferí hacer el 

viaje en tren, solo tardé unas cuantas horas. Mis padres me recogieron en la estación de trenes y 

fuimos a conocer la ciudad. 

 

Para los últimos días de vacaciones, mis padres pensaron alquilar un coche para volver a Granada 

recorriendo la costa mediterránea. Por el camino, hicimos una parada en la ciudad de las Artes y 

las Ciencias en Valencia, ¡fue genial! 

He pensado que el próximo viaje será por Hispanoamérica, ¿podrías proponerme una ruta? 
 

Un beso, Sara 
 

1. Responde a las preguntas: 

a) ¿Para quién Sara ha escrito una carta? 

b) ¿Por qué fue a España? 

c) ¿Para llegar al aeropuerto que ella cogió? 

d) ¿Dónde empezó ella su viaje? 

e) ¿Dónde quiere ir ella al próximo viaje? 
 

2.  Escribe el texto explicando una historia de amor de 2010 a 2014 de la página 28 de unidad dos.                      

                       [10] 
 

3.  Escribe un correo electrónico a tu amigo explicándole una experiencia increíble de un viaje a tu 

lugar interesante.  (en 80 a 100 palabras)                                                          [10] 
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4.  Escribe en breve sobre Miguel de Cervantes y sus dos obras famosas.        [5]                                                     
 

5.  Escribe en breve sobre Jorge Luis Borges y sus dos obras famosas.              [5]                                                          
 

6.  Escribe en breve sobre Gabriel Garcia Marquez y sus dos obras famosas.            [5]                                                     
      

7.  Contesta a las preguntas del texto de Che Guevara de  unidad 2                  [5]                                                     
    

a. ¿Dónde y cuándo nació Che Guevara?  

b. ¿Cuándo y cuáles países son en el que recorrió él?  

c. ¿Qué película narra su viaje en qué año?  

d. ¿Qué hizo él en 1953?  

e. ¿Qué pasó en 1955?  

 

8.  Contesta a las preguntas de gramática:                    

a. Haz conjugación de cualquier verbos regulares e irregulares y haz frases con ellos en 

presente.               [6] 
 

b. Haz conjugación de los verbos levantarse, sentirse y bañarse y haz frases con ellos en 

presente.                   [3] 
 

c. Haz dos frases con cada uno de “costar y sentirse”                                [4] 

d. Haz dos frases con Para y porque                             [2] 

e. Completa las frases con desde, desde hace and hace que y lo mejor :      [4]                                    

           i)  Vivo en ……… desde ……….  

          ii)  Estudio español desde hace …….  

         iii)  Hace …….. que estudio en ……… 

         iv)  Para aprender una nueva lengua ……. es aprender vocabularios.   

f. Escribe tres frases con formulario de empezar a + infinitivo en pretérito indefinido.   [3]             

g. Escribe conjugación en pretérito indefinido de los verbos de hablar, comer, escribir, estar, 

ir/ser, tener y haz una frase con cada uno de ellos.                   [6] 
 

h. Subraya la opción correcta en cada caso. Luego,  traduce ir e irse a tu lengua.          [2]                    

            i) ¿Te quedaste hasta el final de la fiesta?        

● No, fui / me fui un rato antes.   

          ii)  ¿Conoces el museo del prado?  

● Sí, / me fui hace unos años.  
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           Guidelines:  

a. This question paper consists of 4 sections A, B, C and D. 
b. The marks for each section are defined with individual questions. 
c. Attempt question of one group at one place. 
d. Write complete sentence for fill in the blanks type question. 

 

 PART - A  
LESEN 

 

1.  Lies den Text und beantworte die Fragen. 
 
Ein Leben ohne Fleisch?" 

 
Im Supermarkt wird ein ganzes Huhn schon für 2,99 Euro verkauft. Also 
nur 2,99 Euro für das Futter, für den Stall und für die Arbeitskraft, 
inklusive Gewinn. Ein Brot vom Bäcker kostet oft mehr. 
 
Aber in westlichen Ländern scheint eine Ernährung ohne Fleisch und 
Wurst undenkbar. In Deutschland wurden zum Beispiel 2009 rund 600 
Millionen Hühner, 56 Millionen Schweine, 3,8 Millionen Rinder, etwa eine 
Million Schafe und Lämmer sowie fast 28 000 Ziegen geschlachtet. Doch es 
gibt einen neuen Trend: Viele Menschen kaufen Biofleisch, essen weniger 
Fleisch oder verzichten sogaraganz darauf. Früher wurden Vegetarier oft 
nicht ernst genommen,heute werden sie schon lange nicht mehr belächelt. 
Immer mehr aMenschen sind sogar Veganer, sie lehnen neben Fleisch 
auchMilchprodukte und Eier ab. 
 
Und auch in der Politik wird über ein Leben mit weniger Fleisch 
gesprochen. Spätestens im Jahrmwenn etwa neun Milliarden Menschen 
auf der Erde leben, kann nicht mehr so viel Fleisch prodwerden. Deshalb 
hat die WHO jetzt eine Aktion gestartet, um westliche Länder für 
Insektenbegeistern. Sie sind klein, haben viel Eiweiß und wenig Fett. Es 
gibt sie überall, sie brauchen Platz und Futter und sind kein Problem für 
die Umwelt. Wer heute,in" sein möchte, bestellt hoJapaner hachi-no-ko", 
gekochte Wespen larve. 
 

A. Beantworten die Fragen: 

a. Was wird in Jahr 2050 passieren? 
b. Welche action hat WHO gestartet? 

c. Was sind die Vorteile dieser Aktion? 
d. Was kostet meh: ein Brot beim Bäcker oder ein Huhn im 

Supermarkt. 
e. Wer ist ein Veganer? 

f. Was meinst du über leben in Jahr 2050? 

 
 
 
 
 
 
 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
1x6=6 
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B. Finden Antonym aus dem Text: 

a. Denkbar 
b. Alt 
c. Mehr 
d. Kaufen 
e. Selten  
f. Annehmen 

C. Schreib Sätze: 

a. Leben 
b. Früher 

0.5x6=3 
 
 
 
 
 
 
0.5x2=1 

2. Lies den Text und ergänze die fehlenden Wörter: 
 

Vitamin, Kranke, Zucker, Gemüse, gesund, Produkte, Leben, 
Körper, Frutarier, Kalzium 

 

Wie gesund ist ein fleischloses ___________(1)? Das kommt darauf an. 
Fleisch hat viele Proteine, Mineralien und Vitamine, die der menschliche 
___________ (2)braucht. Aber Protein gibt es auch in Milchprodukten oder 
Hülsenfrüchten, wie Linsen oder Bohnen. Ein ___________(3), dass es nur 
im Fleisch gibt, ist das Vitamin B12. Wenn man kein Fleisch isst, kann man 
Vitamin B12-Tabletten nehmen. Menschen, die keine tierischen 
___________(4) essen, müssen aufpassen, dass sie genug Kalzium 
bekommen, denn ___________(5) ist sehr wichtig für die Knochen. 
Kalzium findet man vor allem in Milchprodukten, aber auch in grünem 

___________(6).  
Für ___________(7) ist eine gesunde Ernährung schwieriger, weil ihnen 
viele Vitamine, Mineralien und Proteine fehlen. Sie müssen diese Stoffe 
zum Beispiel als Tabletten nehmen, um ___________(8) zu bleiben. Kinder, 
Sportler*innen, Schwangere und ___________(9) sollten besser nicht 
futurisch leben. Fleischlos leben muss nicht ungesund sein. Wichtig ist eine 
ausgewogene Ernährung. Viele Studien zeigen, dass Menschen, die kein 
Fleisch essen, oft gesünder sind als Menschen, die (viel) Fleisch essen. Sie 
haben aber auch generell einen gesünderen Lebensstil: Sie essen oft 
weniger ___________(10), trinken weniger Alkohol und machen mehr  
Sport. 
 

1x10=10 

 PART – B 
SCHREIBEN 

 

3. Nächste Woche du hast Geburtstag. Du willst eine Party geben und Viele 
Freunden einladen. Screib eine Einladung an deiner Opa/ deine Oma. 
Schreib etwas zu jedem Punkt. 

 Party: wann und wo? 

 Gäste: wie viele? welche? 

 Musik? Essen und Getänke? 

 Vorberitung : Hilfe? 

5 

4.  Du bekommst die folgende Nachricht auf deinem Handy. Du interessierst 
dich dafür. Schreib eine Antwort. Vergiss nicht die Anrede und den Gruβ. 

Kochen und Backen für Anf:anger! 

Schnell, lecker und gesund kochen lernen. Meine Rezepte 
sind leicht. Genau Beschreibung und Anleitung für 
Kochenanfänger! Ideal für alle, die noch nie in der Küche 
gestanden haben. Bitte schnell sich unter 

5 
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www.kochanfaenger.de anmelden. Oder einfach eine 
SMS eintippen. 

 

5. Du hattest vor drei Tagen Geburtstag. Du hast eine Party gemacht und 
viele Freunde eingeladen. Du hast viele Geschenke bekommen. Schreib 
eine E – mail und erzähl deiner Oma von der Party. 

5 

 Part – C 
GRAMMAR 

 

7. Ergänze die Fragen. Mache die Fragen Indirekt. 
 

a. Wohin ist Thomas gegangen? 
b. Wie viele Zimmer hat das Haus? 
c. Ist das Wohnzimmer klein? 
d. Wann fährt der Zug nach Berlin? 
e. Wie funktionert der neue Computer? 
f. Gehen wir zu Party? 
g. Haben wir den Deutschtest am Montag? 
h. Wann beginnen unsere Prüfung? 
i. Bis wann muss die Projektarbeit fertig sein? 
j. Wie viel Uhr ist es? 

 

0.5x10=5 

8. Eegänze die adjective mit den richtigen Endungen: 

a. Ich habe keinen __________ Filme gesehen?  
b. Ralf ist wirklich ein ___________ Mensch! 
c. Lena ist so ein ___________ Mädchen. 
d. Ich möchte keine __________ Sendung sehen. 

e. Ich sehe einen ___________ Krimi. 
 

1x5=5 

9. Kombiniere die Sätze mit konnektoren. 

a. Mein Brder weiβ nicht. Seine Frau hat das Auto genommen. (ob) 
b. Ich möchte wissen, sie haben sich gestern verlobt. (ob) 
c. Ich gehe ins. Ich habe meine Zähne geputzt. (nachdem) 

d. Wir denken. Deutsch ist sehr interessant. (dass) 
e. Herr Schmidt ist Traurig. Seine Oma ist gestorben. (weil) 
f. Lukas kauft sich ein neues Auto. Er hat genug Geld. (wenn) 
g. Ich weiβ nicht. Das ist wahr. (ob) 
h. Sag mir. Hast du ein neuen Job gefunden? (ob) 
i. Frau Müller zieht nach Barcelona um. Sie lernt Spanisch. (bevor) 
j. George war krank. Er ist nach Hause gekommen. (als) 
 

0.5x10=5 

10.  Ergänze die Adjektivendungen: 

a. Der teur_____ Hut steht dir gut. 
b. Ich finde den kurz_____ Rock hässlich. 
c. Ich finde die Schwarz ____ Schuhe elegant. 
d. Der blau____ Mantel gefällt mir gut. 
e. Der grau ____ Anorak ist schmutzig. 
f. Die Altmodisch___ Anzug kaufe ich nicht. 

0.5x10=5 

http://www.kochanfaenger.de/
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g. Die abgetragen ____ Jeans finde ich bequem. 
h. Die rot____ Bluse passt gut zu Martina. 
i. Mir gefallen die weiβ____ Handschuhe aus Leder. 
j. Ich kenne die alt ____ Frau auf dem Foto nicht. 

 

11. Bilde indirekte Fragen mit „ob“. 

a. Lernt ihr Kochen in der Schule? 
b. Essen die Schüller mittags in der Schulkantine? 
c. Isst Stefan lieber Fisch oder Fleisch? 
d. Hat Sabrina das Essen gut geschmekt? 
e. Kommt Maria morgen? 

 

1x5=5 

 Part – D 
KURSBUCH 

 

12. Lies den text und Beantworte die Fragen: 
 
Gut oder Günstig? Groβes Testessen für Schulkantinen in Köln. 

Jeder glaubt, dass Kinder und Jugendliche Pommes und Pizza lieben, also 
eher die fetten, nicht sehr gesunden gerichte. Aber das stimmt nicht. Auf 
den Fragenbögen der Testesser sieht man, dass gesunde Gerichte wie 
Karotten oder Kartoffelsuppe den Schülern ebenso gut schmeckt wie 
Pommes oder Nudeln mit Soβe. Nur frisch müssen die Zutaten sein, gut 
gekocht und schön serviert. 
„UnserEssen soll immer besser werden“, sagt auch Rosemarie Gassner von 
der Gutenbergschule. „Dahelfen uns die ehrlichen Antworten 
unsererTestesser sehr. Und für gutes Essen zahlen die meisten Eltern gern 
ein bisschen mehr nach dem Motto: „Lieber gut als nur günstig“. 
 

A. Beantwort die Fragen: 

a. Welche Gerichte sind bei den Kindern und Jugendlichen bleibt? 
b.  Wo wird das Testessen gemacht? 
c. Was machen die Testesser? Warum? 
d. Wie können die Testesserdabei Helfen? 

 
B. Richtig oder Falsch: 

a. Kinder mögen keine Pommes und Pizza. 
b. Karotten oder Kartoffelsuppe essen die Kinder und Jugendliche nur 

ungern. 
c. Dei Kinder und Judendliche bevorzugen gesunde Gerichte, wenn 

sie gut gekocht sind. 
d. Frische Zutaten spielen eine groβe Rolle im Geschmack der 

Gerichte. 
e. Die Eltern sind bereit, für gutes Essen mehr Geld auszugeben. 

C. Bilde Sätze: 

a. Gern 
b. Die Schule 

 
 

 

 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
1x4=4 
 
 
 
 
 
 
1x5=5 
 
 
 
 
 
 
 
 
 
0.5x2=1 
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13.  Füllen Sie die Lücken mit den richtigen Alternativen aus der Liste aus: 

Schüler, Qualität, Noten, Testesser, lacht, glaubt, Kartoffelsuppe, 
Essen, schmeckt, Hause 

 
Großes Testessen für Schulkantinen in Köln  

Lehrer, ___________(1) und Eltern probieren in vielen Schulen in Köln 
Alternativen zum bisherigen Kantinenangebot und geben _______(2) von 1 
bis 6 für Aussehen, Geschmack und __________(3)der neuen Gerichte. Auf 
die Frage, wo es denn besser__________(4), zu Hause oder in der Kantine, 
sieht _________(5)Robin Hörmann in der Gesamtschule Rodenkirchen erst 
kurz zu seiner Mutter Sandra. Sie ist auch Testesserin und vom neuen 
Schulessen positiv überrascht. „Genauso gut wie zu___________(6)“, sagt 
Robin dann, und seine Mutter_______(7): „Er hat total recht!“ 
Jeder_________(8), dass Kinder und Jugendliche Pommes und Pizza lieben, 
also eher die fetten, nicht sehr gesunden Gerichte. Aber das stimmt nicht. 
Auf den Fragebögen der Testesser sieht man, dass gesunde Gerichte wie 
Karotten oder _____________(9)den Schülern ebenso gut schmecken wie 
Pommes oder Nudeln mit Soße. Nur frisch müssen die Zutaten sein, gut 
gekocht und schön serviert! „Unser Essen soll immer besser werden“, sagt 
auch Rosemarie Gassner von der Gutenbergschule. „Da helfen uns die 
ehrlichen Antworten unserer Testesser sehr. Und für gutes 
_________(10)zahlen die meisten Eltern gern ein bisschen mehr nach dem 

Motto: „Lieber gut als nur günstig.“ 

1x10=10 
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DELHI PUBLIC SCHOOL 
SAIL TOWNSHIP, RANCHI 

QUALIFYING EXAMINATION   (2024-25) 
 Class - X                                                                                       Subject – Hindi Time – 3 Hours                                                                         Maximum Marks- 80 

   

lkekU; funsZ”k %& 
 bl ç”ui= esa nks [kaM gSa & [kaM ^v^ vkSj ^c^A 
 [kaM ^v^ esa miç”uksa lfgr 45 oLrqijd ç”u iwNs x, gSaA fn, x, funsZ”kksa dk ikyu djrs gq, dqy 40 

ç”uksa ds mÙkj fy[ksaA  [kaM ^c^ esa o.kZukRed ç”u iwNs x, gSa] vkarfjd fodYi Hkh fn, x, gSaA  funsZa”kksa dks cgqr lko/kkuh ls if<+, vkSj mudk ikyu dhft,A 
 nksuksa [kaMksa ds dqy 18 ç”u gSaA nksuksa [kaMksa ds ç”uksa ds mRrj nsuk vfuok;Z gSA  ;FkklaHko nksuksa [kaMksa ds ç”uksa ds mÙkj ;FkkØe ¼Øe”k%½ fy[ksaA 

 
[kaM & ^v^ ¼oLrqijd ç”u½ 

 

ç”u 1- fuEufyf[kr x|ka”k dks /;kuiwoZd i<+dj blds vk/kkj ij lokZf/kd mi;qDr mÙkj okys fodYi pqudj  
fyf[k, &            ¼1x5¾5½ 

la?k’kZ ds ekxZ esa vdsyk gh pyuk iM+rk gSA dksbZ ckgjh “kfDr vkidh lgk;rk ugha djrhA ifjJe] 
n`<+ bPNk”kfDr o yxu vkfn ekuoh; xq.k O;fDr dks la?k’kZ djus vkSj thou esa lQyrk çkIr djus dk ekxZ 
ç”kLr djrs gSaA nks egRoiw.kZ rF; Lej.kh; gSa çR;sd leL;k vius lkFk la?k’kZ ysdj vkrh gS vkSj nwljk 
çR;sd la?k’kZ ds xHkZ esa fot; fufgr jgrh gSA ,d v/;kid us f”k{kk iw.kZ dj fo|ky; NksM+usokys vius 
Nk=ksa dks ;g lans”k fn;k Fkk & rqEgsa thou esa lQy gksus ds fy, leL;kvksa ls la?k’kZ djus dk vH;kl 
djuk gksxk A ge dksbZ Hkh dk;Z djsa] loksZPp f”k[kj ij igq¡pus dk ladYi ysdj pysa A lQyrk gesa dHkh 
fujk”k ugha djsxh A leLr leLr xzaFkksa vkSj egkiq:’kksa ds vuqHkoksa dk fu’d’kZ ;g gS fd la?k’kZ ls Mjuk 
vFkok mlls foeq[k gksuk vfgrdj gS] ekuo /keZ ds çfrdwy gS vkSj vius fodkl dks vuko”;d :Ik ls 
ckf/kr djuk gSA vki tkfx,] mfB, n`<+&ladYi vkSj mRlkg ,oa lkgl ds lkFk la?k’kZ :ih fot; jFk ij 
pf<+, vkSj vius thou ds fodkl dh ck/kkvksa :ih “k=qvksa ij fot; çkIr dhft,A   

    
¼1½ euq’; dks la?k’kZ djus vkSj thou esa lQyrk çkIr djus dk ekxZ ç”kLr djrs gSa& 

 ¼d½ fuHkhZdrk] lkgl] ifjJe      
¼[k½ ifjJe] yxu] vkRefo”okl  
¼x½ lkgl] n<̀+ bPNk”kfDr] ifjJe 
¼?k½ ifjJe] ǹ<+ bPNk”kfDr o yxu  

 

¼2½ çR;sd leL;k vius lkFk ysdj vkrh gS& 
¼d½ la?k’kZ     
¼[k½ dfBukb;k¡ 
¼x½ pqukSfr;k¡ 
¼?k½ lq[kn ifj.kke  
 

¼3½ leLr xzaFkksa vkSj vuqHkoksa dk fu’d’kZ gS& 
¼d½ la?k’kksZa ls Mjuk ;k foeq[k gksuk vfgrdj gS    
¼[k½ ekuo /keZ ds çfrdwy gS 
¼x½ vius fodkl dks ckf/kr djuk gS 
¼?k½ mi;qZDr lHkh 
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¼4½ fo|kFkhZ thou ls gh Nk=ksa dks lgh ekxZn”kZu feyus ij D;k gksxk\ 
¼d½ os vius ekxZ ij py ldrs gSa     
¼[k½ os u, LFkkuksa ij tk ldrs gSa 
¼x½ os ,d LFkku ls nwljs LFkku ij tk ldrsa gSaA 
¼?k½ muesa lH;rk vkSj laLd̀fr dk chtkjksi.k gksxkA 

   
¼5½ uSfrd f”k{kk ds fdrus igyw crk, x, gSa\ 
¼d½ ,d  
¼[k½ nks  
¼x½ ik¡p 
¼?k½ pkj  

 

ç”u 2- fuEufyf[kr x|ka”k dks /;kuiwoZd i<+dj blds vk/kkj ij lokZf/kd mi;qDr mÙkj okys fodYi Nk¡Vdj  
fyf[k, &            ¼1x5¾5½ 

uSfrd f”k{kk ds nks igyw gSa & ldkjkRed vkSj udkjkRed A igys i{k ds varxZr vkrs gSa& lR;] 
vfgalk] ijksidkj vkSj d:.kkA ;s gh xq.k ijfgr ds dkj.k gSa vkSj ijfgr dks xksLokeh rqylhnkl us ije 
/keZ dgk gSA blds foijhr udkjkRed igyw ds varxZr vkrs gSa& dke] Øks/k] eksg yksHk] nqoZpu vkfn A bUgha 
voxq.kksa ls nwljksa dks ihM+k igq¡prh gS vkSj ihM+k dks rqylhnkl us v/keZ ;k iki dgk gSA ;fn Nk=ksa dks 
uSfrd f”k{kk nh tk,xh rks os lUekxZ ij pysaxs] viuh vkRek dks “kqn~/k cukdj viuk vkSj ns”k nksuks a dk fgr 
djsaxs A blds foijhr vkpj.k djus ij Ny & diV dj vuq”kklu Hkax dj Lo;a viuk thou Hkh u’V 
djsaxs vkSj lekt esa vjktdrk QSykdj ns”k dks nqcZy cuk,¡xsA ;fn fo|kFkhZ thou ls gh Nk=ksa dks lgh 
ekxZn”kZu feys rks fuf”pr :Ik ls lH;rk vkSj laLd̀fr dk chtkjksi.k gks tkrk gSA ;g ogh voLFkk gS 
ftlesa vPNs ukxfjdksa dk fuekZ.k gksrk gSA blfy, uSfrdrk dh f”k{kk ge f”k{kk laLFkkvksa esa ikB~;Øe dk 
vax cukdj ns ldrs gSaA     
 

¼1½ ijfgr dks xksLokeh rqylhnkl us D;k dgk gS\ 
¼d½ ije /keZ  
¼[k½ ije lR;  
¼x½ ije d:.kk 
¼?k½ ije vorkj  

 

¼2½ rqylhnkl us v/keZ ;k iki fdls dgk gS\ 
¼d½ vfgalk dks  
¼[k½ ij ihM+k dks  
¼x½ d:.kk dks  
¼?k½ ijksidkj dks  
 

¼3½ Nk=ksa dks uSfrd f”k{kk nsus ls D;k ykHk gS\ 
¼d½ os viuk thou u’V djsaxs A 
¼[k½ os vuq”kklu Hkax djsaxsA 
¼x½ os lUekxZ ij pysaxsA 
¼?k½ os viuk le; u’V djsaxsA 
 

¼4½ uSfrd f”k{kk ds ldkjkRed i{k esa lfEefyr gSa\ 
¼d½ lR;] vfgalk]ijksidkj vkSj d:.kk  
¼[k½ dke] Øks/k] yksHk] eksg  
¼x½ ihMk] v/keZ] iki  
¼?k½ Ny & diV] vuq”kklu Hkax 

¼5½ xn~;ka”k esa ije /keZ fdlh dgk x;k gS\ 
¼d½ ij ihM+k dks  
¼[k½ ijfgr dks  
¼x½ vjktdrk dks  
¼?k½ voxq.kksa dks  
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ç”u 3- fuEufyf[kr esa ls fdUghsa pkj okD;ksa esa js[kkafdr inca/kksa ds Hksn igpkfu, vkSj lgh fodYi Nk¡Vdj mRrj 
 nhft,  &            ¼1x4¾4½ 

 
¼d½ Hk;adj vijk/k djus okys ml vijk/kh dks ltk rks feyuh gh pkfg, Fkh A 

 ¼i½ loZuke inca/k      ¼ii½ fo”ks’k.k inca/k   
¼iii½ laKk inca/k     ¼iv½ fØ;k inca/k   
 
¼[k½ jk’Vªçse dh dfork,¡ fy[kus okyk og dfo lHkh ds vanj tks”k Hkj nsrk gSA 

 ¼i½ laKk inca/k      ¼ii½ loZuke inca/k  
¼iii½ fØ;k fo”ks’k.k inca/k      ¼iv½ fo”ks’k.k inca/k 
 
¼x½ *fuHkhZd vkSj lkglh othj vyh vius vf/kdkj ds fy, yM+ jgk FkkA bl okD; esa fo”ks’k.k inca/k gSA  

 ¼i½ lkglh othj vyh      ¼ii½ yM+ jgk FkkA  
¼iii½ fuHkhZd vkSj lkglh     ¼iv½ vius vf/kdkj ds fy,  
 
¼?k½ *ckn”kkg lqyseku ekuo tkfr ds lkFk & lkFk Ik”kq & if{k;ksa ds Hkh jktk gSA* js[kkafdr inca/k gSA 

 ¼i½ laKk inca/k       ¼ii½ fo”ks’k.k inca/k  
¼iii½ loZuke inca/k      ¼iv½ fØ;k fo”ks’k.k inca/k   
 
¼³½ mlus ekrk & firk vkSj v/;kidksa dk lj xoZ ls m¡pk dj fn;k A js[kkafdr inca/k gSA 

 ¼i½ fØ;k fo”ks’k.k inca/k       ¼ii½ laKk inca/k   
¼iii½ fØ;k inca/k      ¼iv½ loZuke inca/k 
 

ç”u 4- fuEufyf[kr esa ls fdUgha pkj ç”uksa ds mÙkj  lgh fodYi Nk¡Vdj fyf[k, &    ¼1x4¾4½ 
 
¼1½ ?kj ls ckgj fudyus esa cgqr [krjk gSaA 
    iwjs bartke ds lkFk ckgj fudyuk pkfg,A 

bu nks okD;ksa ls cuk gqvk ljy okD; gksxkA 
 

 ¼d½ ckgj fudyus esa [krjk gS vkSj iwjs bartke ds lkFk ckgj fudkyuk pkfg,A 
 ¼[k½ [krjs ls cpus ds fy, iwjs bartke ds lkFk ckgj fudyuk pkfg,A 

¼x½ ckgj fudyus esa D;ksafd cgqr [krjk gS blfy, iwjs bartkj ds lkFk ckgj fudyuk pkfg,A 
¼?k½ ;|fi ckgj fudyus esa [krjk gS rFkkfi iwjs bartke ds lkFk ckgj fudyuk pkfg,A 
 
¼2½ gesa ,dek= lR; orZeku esa gh thuk pkfg,A 
 jpuk ds vk/kkj ij okD; Hksn gS& 

 ¼d½ ljy okD;  
 ¼[k½ miokD;  

¼x½ la;qDr okD;  
¼?k½ feJ okD;  
 
¼3½ fuEufyf[kr okD;ksa esa ls la;qDr okD; Nk¡fV,& 

 ¼d½ ge pkgrs gSa fd bl ckj u`R; vk;kstu esa Hkkx ysaA 
 ¼[k½ u`R; vk;kstu gksusokyk gS vkSj bl ckj ge mlesa Hkkx ysuk pkgrs gSaA 

¼x½ ;fn u`R; vk;kstu gksxk rks ge mlesa Hkkx ysaxsA 
¼?k½ bl ckj uR̀; vk;kstu esa Hkkx ysuk pkgrs gSaA 
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¼4½ ckgj cs<c lk feV~Vh dk crZu Fkk vkSj mlesa ikuh Hkjk gqvk FkkA  
okD; Hksn gS& 

 ¼d½ ljy okD; 
 ¼[k½ la;qDr okD;  

¼x½ ç”uokpd okD;  
¼?k½ feJ okD;  
 
¼5½ jpuk ds vk/kkj ij okD; fdrus çdkj ds gksrs gaS\  

 ¼d½ rhu  
 ¼[k½ pkj  

¼x½ ,d  
¼?k½ ik¡p  
 

ç”u 5- funsZ”kkuqlkj *lekl* ij vk/kkfjr ik¡p cgqfodYih; ç”uksa esa ls fdUgha pkj ç”uksa ds mÙkj nhft, & ¼1x4¾4½ 
 

¼1½ *deyu;u* “kCn@leLrin fdl lekl dk mnkgj.k gS\   
 ¼d½ cgqozhfg lekl  
 ¼[k½ deZ/kkj; lekl  

¼x½ rRiq:’k lekl 
¼?k½ vO;;hHkko lekl  
 

¼2½ *ftruk “kh/kz gks lds* & bldk leLr in vkSj lekl dk Hksn gksxk\  
 ¼d½ vfr “kh/kz & rRiq:’k lekl  
 ¼[k½ vfr vkSj “kh/kz & f}xq lekl  

¼x½ ;Fkk”kh?kz & vO;;h Hkko lekl 
¼?k½ ftruk gS “kh?kz & cgqozhfg lekl 
 

¼3½ *ihrkacj* lkekfld “kCn dk foxzg vkSj Hksn gS&   
 ¼d½ ihr vkSj vacj & }a} lekl  
 ¼[k½ ihyk gS vacj ftldk & deZ/kkj; lekl  

¼x½ ihr ds vacj & rRiqq:’k lekl  
¼?k½ ihyk gS vacj ftldk vFkkZr Jh fo’.kq & cgqozhfg lekl  

 

¼4½ pkSeklk dk lekl foxzg vkSj lekl dk Hksn gksxk&  
¼d½ pkj gS tks ekl -&  cgqozhfg lekl 

 ¼[k½ pkj eklksa dk lewg & f}xqlekl  
¼x½ pkj eklksa dk lewg & rRiq:’k lekl 
¼?k½ pkj ekl gS ftlesa & deZ/kkj; lekl  

¼5½ *iki & Ikq.; & lekl foxzg vkSj lekl dk Hksn gS& 
¼d½ iki vkSj iq.; & rRiq:’k lekl 

 ¼[k½ iki vkSj iq.; & }an lekl  
¼x½ ikiksa ds fy, iq.; & vO;;hHkko lekl  
¼?k½ ftldk iki iq.; & cgqozhfg lekl 

 
ç”u 6- funsZ”kkuqlkj *eqgkojksa * ij vk/kkfjr cgqfodYih; ç”uksa esa ls fdUgha pkj ç”uksa ds mÙkj nhft,&    
                                                                                        ¼1x4¾4½ 

¼1½ dkjfxy dk ;qn~/k thrdj Hkkjrh; lsuk us ns”k dh &&&&&& yhA 
 ¼d½ /kwy >ksad 
 ¼[k½ ryokj [khap  

¼x½ ykt j[k  
¼?k½ fxn~/k nf̀’V 
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¼2½ vius iM+ksl esa dksjksuk ejht dh e`R;q dh [kcj lqurs gh ge lcds &&&& 
 ¼d½ çk.k lw[k x,  
 ¼[k½ fgEer VwV xbZ 

¼x½ nhokj [kM+h gks xbZ  
¼?k½ ?kko ij ued fNM+dk  
 
¼3½ eqgkojs vkSj vFkZ ds mfpr esy okys fodYi dk p;u djsa& 

 ¼d½ xk<+h dekbZ & fj”or ysuk  
 ¼[k½ va/ks ds gkFk cVsj yxuk & v;ksX; dks lQyrk çkIr gksuk   

¼x½ BaMk iM+uk & cgqr ç;kl djuk  
¼?k½ Msjk Mkyuk & LFkk;h :Ik ls jguk   
 
¼4½ tks cPps ekrk & firk dh vk¡[kksa esa &&&& jgs gSa] viuk gh Hkkjh uqdlku dj jgs gSaA  

 ¼d½ rkjk cu  
 ¼[k½ /kwy >ksad  

¼x½ fojks/k dj  
¼?k½ nk¡r ihl  
 
¼5½ *fny dks xgjh pksV igq¡puk* vFkZ ds fy, mi;qDr eqgkojk gSA 

 ¼d½ ftxj ds VqdM+s & VqdMs+ gks tkuk  
 ¼[k½ yksgs ds pus cukuk  

¼x½ ckj tksguk  
¼?k½ ?kkV ?kkV dk ikuh ihuk 
 
 

ç”u 7- fuEufyf[kr dkO;ka”k dks i<+dj fn, x, ç”uksa ds mÙkj lgh fodYi Nk¡Vdj nhft, &  ¼1x5¾5½ 
   

dLrwjh dqaMyh clS] ex̀ <w¡<+S cu ek¡fgAA 
  ,sls ?kfV & ?kfV jk¡e gSa] nqfu;k ns[kS uk¡fga AA 
  tc eSa Fkk rc gfj ugha] vc gfj gSa eSa ukfgaA 

lc v¡f/k;kjk fefV x;k] tc nhid ns[;k ek¡fgaAA 
    

¼1½ fgj.k dLrwjh dks ou esa D;ksa <¡w<+rk gS\ 
 ¼d½ fo”okl ls  

¼[k½ Hkze ls    
¼x½ vfo”okl ls   
¼?k½ Hk; ls  

 
¼2½ nqfu;k dks D;k fn[kkbZ ugha nsrk \ 

 ¼d½ bZ”oj eafnj esa gSa 
¼[k½ bZ”oj ?kj esa gSa 
¼x½ bZ”oj d.k & d.k esa O;kIr gS 
¼?k½ bZ”oj HkDr esa gSA 

 
¼3½ ßlc vaf/k;kjk fefV x;k] tc nhid ns[;k ek¡fgÞ iafDr dk D;k vk”k; gS 

 ¼d½ nhid gks rks lc dqN fn[kkbZ nsrk gSA 
¼[k½ nhid rys v¡/ksjs gksrk gSA  
¼x½ nhid tyus ij va/kdkj u’V gksrk gSA  
¼?k½ okLrfod Kku dh çkfIr gksus ij Hkze nwj gks tkrk gS 
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¼4½ ßtc eSa Fkk rc gfj & ughaÞ bl iafDr ls dfo dk D;k vfHkçk; gS&  
 ¼d½ çHkq vgadkjh dks ugha feyrs    

¼[k½ *eSa* esa gfj ugha gSA  
¼x½ gfj eq>ls :<s gSa  
¼?k½ eSa pyk x;k Fkk rks gfj fdls feyrs 

 
¼5½ *v¡f/k;kjk* dk D;k vFkZ gS&  

 ¼d½ mtkyk vkSj ped 
¼[k½ Hkze vkSj vKku    
¼x½ çdk”k vkSj fdj.k   
¼?k½ Hkze.k”khy ex̀ 

ç”u 8- fuEufyf[kr ç”uksa ds mÙkj lgh mRrj fn, x, fodYiksa esa ls pqudj fy[ksa &    ¼2x1¾2½ 
 

¼1½ *eksj eqdqV ihrkacj lksgs xy oSt;arh ekyk* & ;g iafDr D;k n”kkZ jgh gS& 
 ¼d½ d`’.k dk yksd j{kd :Ik  

¼[k½ d`’.k ds çfr ehjk dk vlhe çse 
¼x½ ehjk ds ân; esa clk d`’.k dk :Ik  
¼?k½ oànkou dh dqat xfy;ksa dk lkSUn;Z  
 
¼2½ dchj dh lkf[k;ksa dk eq[; mn~s”; D;k Fkk\  

 ¼d½ {kf=; Kku  
¼[k½ “kkL=h; Kku  
¼x½ thou thus ds lgh <ax dk Kku nsuk  
¼?k½ lgh <ax dk Kku  
 
 

ç”u 9- fuEufyf[kr xn~;ka”k dks i<+dj fn, x, ç”uksa ds mÙkj lgh fodYi Nk¡Vdj nhft, &  ¼1x5¾5½ 

exj Vkbe&Vscy cuk ysuk ,d ckr gS] ml ij vey djuk nwljh ckr A igys gh fnu mldh 
vogsyuk “kq: gks tkrh A eSnku dh og lq[kn gfj;kyh] gok ds gYds & gYds >ksads] QqVckWy dh og mNy 
dwn] dcM~Mh ds og nk¡o & ?kkr okWyhcky dh og rsth vkSj QqrhZ] eq>s vKkr vkSj vfuok;Z :Ik ls [khap ys 
tkrh vkSj ogk¡tkrs gh eSa lc dqN Hkwy tkrk A og tkuysok Vkbe&Vscy] og vk¡[k QksM+ iqLrdsa] fdlh dh 
;kn ugha jgrh vSj HkkbZ lkgc dks ulhgr vkSj Qthgr dk volj fey tkrk A eSa muds lk;s ls Hkkxrk] 
mudh vk¡[kksa ls nwj jgus dh ps’Vk djrk ] dejs esa bl rjg ncs ik¡o vkrk fd mUgsa [kcj u gks A mudh 
utj mBh vkSj esjs çk.k fudys A ges”kk flj ij ,d uaxh ryokj & lh yVdrh ekywe gksrh A fQj Hkh 
tSls ekSr vkSj foifRr ds chp Hkh vkneh eksg vkSj ek;k ds ca/ku esa tdM+k jgrk gS] eSa QVdkj vkSj 
/kqM+fd;k¡ [kkdj Hkh [ksydwn dk frjLdkj ugha dj ldrk FkkA   
 
¼1½ igys gh fnu fdldh vogsyuk “kq: gks tkrh \ 

 ¼d½ [ksy&dwn dh  
¼[k½ fØdsV [ksyus dh  
¼x½ Vkbe Vscy dh  
¼?k½ [kkus dh  
 
¼2½ i<+kbZ u djus ij cM+s HkkbZ lkgc dks fdldk volj fey tkrk Fkk\ 

 ¼d½ [ksy dwn vkSj eLrh dk  
¼[k½ mNydwn vkSj xkus dk  
¼x½ ?kweus&fQjus dk  
¼?k½ ulhgr vkSj Qthgr dk  
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¼3½ x|ka”k ds vuqlkj ekSr vkSj foifRr ds chp vkneh dkSu ls ca/ku esa tdM+k jgrk gS\ 
 ¼d½ /keZ & deZ dk  

¼[k½ eksg & ek;k dk  
¼x½ v/;;u vkSj v/;kiu dk  
¼?k½ LoxZ vkSj ujd dk  

 
¼4½ NksVk HkkbZ dejs esa dSls vkrk Fkk\ 

 ¼d½ ncs ik¡o  
¼[k½ jaxs gkFk  
¼x½ mYVs ik¡o  
¼?k½ [kV~Vs nk¡r 
 
¼5½ NksVs HkkbZ dks i<k+bZ ds LFkku ij D;k vkdf’kZr djrs FksA 
¼d½ eSnku ds [kqys okrkoj.k esa ?kweuk vkSj Hkkafr & Hkkafr ds [ksy \ 
¼[k½ dSaVhu esa cSBuk   
¼x½ pyfp= ns[kuk  
¼?k½ i<+kbZ ds LFkku ij nksLrksa ds lkFk feydj xi”ki djuk A 

 
ç”u 10- ifBr x| ikBksa ds vk/kkj ij fuEufyf[kr ç”uksa ds mRrj lokZf/kd mi;qDr fodYi pqudj fy[ksa&¼2x1¾2½ 
 

¼1½ cM+s HkkbZ ds LoHkko esa dc ujeh fn[kkbZ nh\  
 ¼d½ tc ys[kd vPNs vadkas ls ikl gks x, 

¼[k½ tc HkkbZ lkgc ikl gks x,  
¼x½ tc ys[kd dh LoPNanrk c<+ xbZ 
¼?k½ tc ys[kd us Vkbe Vscy cuk;k  
 
¼2½ lqHkk’k ckcw ds tqywl dk Hkkj fdl Ikj Fkk\ 

 ¼d½ gfjoa”k flag  
¼[k½ iw.kksZnkl ij  
¼x½ enkylk  
¼?k½ vfoUkk”k ckcw 

 
 

[kaM & ^c^ ¼o.kZukRed ç”u½ 
 

ç”u 11- fuEufyf[kr ç”uksa esa ls fdUgha nks ç”uksa ds mÙkj  yxHkx 60 “kCnksa esa fyf[k, &  ¼3x2¾6½ 
¼d½ cM+s HkkbZ lkgc us jko.k dk mnkgj.k nsdj ys[kd dks D;k le>kus dk ç;Ru fd;k\ 
¼[k½ iqfyl dfe”uj dh uksfVl vkSj dkSafly dh uksfVl esa D;k varj Fkk\ 
¼x½ cM+s HkkbZ dh Mk¡V & QVdkj vxj u feyrh] rks D;k NksVk HkkbZ d{kk esa vOoy vkrk \ vius fopkj 

çdV dhft,A  
 

ç”u 12- ifBr dforkvksa ds vk/kkj ij  fuEufyf[kr ç”uksa esa ls fdUgha nks ç”uksa ds mÙkj  yxHkx 60 “kCnksa esa 
fyf[k, &           ¼3x2¾6½ 
¼d½ dchj ds vuqlkj fuand fdl çdkj gekjs LoHkko dks lq/kkjus essa lgk;d gksrk gS\ og fuand ds lkFk 

dSlk O;ogkj djus dk lq>ko nsrs gSa\ 
¼[k½ ehjkckbZ vius vkjk/; Jhd`’.k dh pkdjh D;ksa djuk pkgrh gS\ 
¼x½ ehjkckbZ us gfj ls viuh ihM+k fdu mnkgj.kksa dks nsrs gq, nwj djus dh ckr dgh gS] ikB ds vk/kkj ij 

Li’V dhft,A 
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ç”u 13- fuEufyf[kr ç”uksa esa ls fdUgha nks ç”uksa ds mÙkj yxHkx 60 “kCnksa esa fyf[k, &  ¼3x2¾6½ 
 

¼d½ BkdqjckM+h ds çfr yksx viuh J)k dSls çdV djrs Fks\ 
¼[k½ *gfjgj dkdk* ikB ds vk/kkj ij crkb, fd lekt esa fdUk&fdu thou ewY;ksa dh deh fn[kkbZ iM+rh  
 Fkh\ 
¼x½ gfjgj dkdk dks egar vkSj muds HkkbZ nksuksa i{k ,d gh Js.kh ds D;ksa yxus yxs\ 
 

ç”u 14- fuEufyf[kr esa ls fdlh ,d fo’k; ij ladsr fcUnqvksa ds vk/kkj ij yxHkx 100 “kCnksa esa vuqPNsn  
fyf[k, &           ¼5x1¾5½ 
 
¼d½ foifRr dlkSVh ts dls] rs gh lk¡ps ehr  

Lakdsr & fcanq & 
 Thou esa fe=rk dh vko”;drk    lPpk fe= dkSu    
 fe= ds pquko esa lko/kkuh  

 
¼[k½ ns”k dh çxfr esa baVjusV dk ;ksxnku  

Lakdsr & fcanq &  rkRi;Z 
 lapkj txr esa Økafr    f”k{kk esa lgk;d ,oa nq’çHkko   

 
 
ç”u 15- o’kkZ ds dkj.k lM+dksa dh nqnZ”kk ij fpark çdV djrs gq, fdlh fganh ds nSfud lekpkj i= ds laiknd 

dks i= fy[ksa vSj O;kogkfjd lek/kku Hkh lq>k,¡A      ¼5x1¾5½ 
vFkok 

nwjn”kZu ij çlkfjr gksusokys dk;ZØeksa dh xq.koRrk lq/kkjus dk vuqjks/k djrs gq, nwjn”kZu funs”kd dks i= 
fy[ksaA 
 

ç”u 16- tUek’Veh ds volj ij vki viuh lkslk;Vh esa cPpksa dh u`R; çfr;ksfxrk dk vk;kstu djuk pkgrs gSaA 
lkslk;Vh dk lfpo gksus ds ukrs 60 “kCnksa esa lwpuk RkS;kj djsaA     ¼4x1¾4½ 

 
vFkok 

*ljLorh fudsru* fo|ky; ds ç/kkupk;Z dh vksj ls Nk=ksa dks vuq”kklu cuk, j[kus dh l[Rk fgnk;r nsrs 
gq, 60 “kCnksa esa lwpuk fyf[k,A  

 
ç”u 17-*çFke* dksfpax laLFkku ds fy, 40 “kCnksa esa ,d vkd’kZd foKkiu  rS;kj dhft,A   ¼3x1¾3½ 

vFkok 
 *lrjaxh Nkrs* ds fy, 40 “kCnksa esa ls ,d vkd’kZd foKkiu RkS;kj dhft,A 
 
ç”u 18- *eu ds gkjs gkj] gS eu ds thrs thr* & fn, x, çsjd fcanq ds vk/kkj ij yxHkx 100&120 “kCnksa esa ,d 
    y?kq dFkk rSS;kj dhft,A          ¼5x1¾5½ 
 
&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&& 
 



 

DELHI PUBLIC SCHOOL 
                       SAIL TOWNSHIP, RANCHI 
                                          QUALIFYING EXAMINATION (2024-25) 

 

Class - X                                                                             Subject – Sanskrit 

Time – 3 Hours                                                               Maximum Marks- 80 
   

 

[k.M% ^d*[k.M% ^d*[k.M% ^d*[k.M% ^d*    
vifBr&vocks/kue~vifBr&vocks/kue~vifBr&vocks/kue~vifBr&vocks/kue~    ¿10 vadk%À¿10 vadk%À¿10 vadk%À¿10 vadk%À    

    

iz’u 1 v/kksfyf[kra x|ka’ka ifBRoiz’u 1 v/kksfyf[kra x|ka’ka ifBRoiz’u 1 v/kksfyf[kra x|ka’ka ifBRoiz’u 1 v/kksfyf[kra x|ka’ka ifBRok funsZ’kkuqlkje~ mRrjrAk funsZ’kkuqlkje~ mRrjrAk funsZ’kkuqlkje~ mRrjrAk funsZ’kkuqlkje~ mRrjrA                                

—".k}Sik;u% eg"kZs% ikjk'kjL; iq=% vklhr~A vL; ekrk ^lR;orh* vlhr~A —".k}Sik;uL; tUe ,dfLeu~ }his 
vHkor~A vL; o.kZ% —".k% vklhr~A vr% v;a —".k}Sik;u% dF;rsA vusuSo osnkuka ladyua —re~A vr ,ok;a 
osnO;kl% bfr ukEuk çfl)% tkr%A egkHkkjrdkys l% fo|eku% vklhr~A l ,o ^egkHkkjr* bfr egkdkO;e~ 
vjp;r~A egf"kZ% O;kl% v"Vkn'k iqjk.kkfu vfi vjp;r~A fonq”kka erefLr ;r~ egf”kZ.kk O;klsu iwoZa iqjk.klafgrk 
uke xzUFkks jfpr%A i’pkr~ rs”kka f’k”;S% vusdkfu iqjk.kkfu fojfprkfuA 

1 ,dinsu mRrjrA1 ,dinsu mRrjrA1 ,dinsu mRrjrA1 ,dinsu mRrjrA                                                                ¿¿¿¿ ½x4=2222ÀÀÀÀ    

d- osnO;kl% dL; iq=% vklhr~\ 

[k- d`”.k}Sik;uL; tUe dq= vHkor~\ 

x- egkHkkjrL; jpf;rk d% vklhr~\ 

?k- osnO;kl% dnk fo|eku% vklhr~\ 
    

2 iw.kZokD;su mRrjrA 2 iw.kZokD;su mRrjrA 2 iw.kZokD;su mRrjrA 2 iw.kZokD;su mRrjrA                                         ¿¿¿¿ 2x2=4444ÀÀÀÀ    

d- iqjk.kkuke~ fo”k;s fonq”kka fda ere~ vfLr\ 

[k- osnkuka ladyua dsu d`re~\ 
    

3333    x|ka’kL;x|ka’kL;x|ka’kL;x|ka’kL;    mfpra ‘kh”kZde~ fy[krAmfpra ‘kh”kZde~ fy[krAmfpra ‘kh”kZde~ fy[krAmfpra ‘kh”kZde~ fy[krA                                ¿¿¿¿ 1x1=1111ÀÀÀÀ    
    

4 funsZ’kkuqlkje~ mRrjr A 4 funsZ’kkuqlkje~ mRrjr A 4 funsZ’kkuqlkje~ mRrjr A 4 funsZ’kkuqlkje~ mRrjr A                                     ¿¿¿¿ 1x3=3333ÀÀÀÀ    

d- ^̂̂̂’osr%’osr%’osr%’osr%**** bfr inL; foi;Z;% vuqPNsns d% ç;qäks orZrs\ 

¿vÀ O;kl%  ¿cÀ fo|eku%  ¿lÀ }Sik;u%  ¿nÀ d`”.k% 
 

[k- ^̂̂̂vjp;r~vjp;r~vjp;r~vjp;r~**** bfr fdz;kinL; dr`Zina vuqPNsns fde~ iz;qDre~\ 

¿vÀ iqjk.kkfu  ¿cÀ egf”kZ%  ¿lÀ O;kl%  ¿nÀ egf”kZ.kk 
 

x- ^̂̂̂iqjk.kkfuiqjk.kkfuiqjk.kkfuiqjk.kkfu**** bfr fo'ks";inL; fo'ks"k.kina vuqPNsns fda iz;qDre~\ 

¿vÀ fojfprkfu  ¿cÀ vusdkfu  ¿lÀ d`”.k%  ¿nÀ f’k”;S% 

 

    

 



[k.M% ^[k*[k.M% ^[k*[k.M% ^[k*[k.M% ^[k*    

jpukRed&dk;Ze~jpukRed&dk;Ze~jpukRed&dk;Ze~jpukRed&dk;Ze~    ¿15 vadk%À¿15 vadk%À¿15 vadk%À¿15 vadk%À    

iz'u 2 iz'u 2 iz'u 2 iz'u 2 Hkoku~ egs’k% Lofe=Hkoku~ egs’k% Lofe=Hkoku~ egs’k% Lofe=Hkoku~ egs’k% Lofe=aa aa    euksteuksteuksteuksta çfr fo|ka çfr fo|ka çfr fo|ka çfr fo|kè;;uk; çsj.kka ;PNu~ i=a fy[kfrè;;uk; çsj.kka ;PNu~ i=a fy[kfrè;;uk; çsj.kka ;PNu~ i=a fy[kfrè;;uk; çsj.kka ;PNu~ i=a fy[kfrAAAA    ,rr~ i=a ea,rr~ i=a ea,rr~ i=a ea,rr~ i=a eatw"kk;k% tw"kk;k% tw"kk;k% tw"kk;k% lgk;r;klgk;r;klgk;r;klgk;r;k    
mfprS% inS% lEiwj;rmfprS% inS% lEiwj;rmfprS% inS% lEiwj;rmfprS% inS% lEiwj;rAAAA                                        ¿¿¿¿ ½x10=5555ÀÀÀÀ    
¼1½ &&&&&&&&&& 
fnYyh uxje~A 
fnukad% 12@06@2024 
fi;fe= eukst] 
¼2½ &&&&&&&&&A  
‘kqHklekpkja bne~ vfLr ;r~ vfLeu~ o”ksZ ee tUefnol% vkxkfe jfookljs ¼3½ &&&&&&&&&A izfro”kZfeo 
ee tudsu y?kq lekjksgL; ¼4½ &&&&&&&&& d̀re~A iwtk;k% dk;Zdze% lk/kZprqokZnus Hkfo”;frA rRi’pkr~ 
5½  &&&&&&&&  Hkfo”;frA lokZf.k vfi ee ¼6½ &&&&&&&&  lifjokja ¼7½ &&&&&&&&  vkxfe";fUrA 
rqH;e~ vfi ¼8½ &&&&&&&&  izs”k;kfeA lifjokje~ mfprle;s vkxR; lekjksgL; ‘kksHkka ¼9½ &&&&&&&&&A 
/kU;okn% 
 
ro vfHkUufe=e~ 
¼10½ &&&&&&&&&& 
dsfUnz; fo|ky;% fnYyh 

eatw”kkeatw”kkeatw”kkeatw”kk    
 
 

    

    
iz’u 3 v/kksnRra fp=a n`”V~ok eatw”kkr% ‘kCna fpRok iap okD;kfu jp;rAiz’u 3 v/kksnRra fp=a n`”V~ok eatw”kkr% ‘kCna fpRok iap okD;kfu jp;rAiz’u 3 v/kksnRra fp=a n`”V~ok eatw”kkr% ‘kCna fpRok iap okD;kfu jp;rAiz’u 3 v/kksnRra fp=a n`”V~ok eatw”kkr% ‘kCna fpRok iap okD;kfu jp;rA                    ¿¿¿¿ 1x5=5555ÀÀÀÀ    

 
 
 
 
 
 
 
 
 

 

eatw”kkeatw”kkeatw”kkeatw”kk    

 
vFkokvFkokvFkokvFkok    

eatw”kk;k% lgk;r;k ^^eatw”kk;k% lgk;r;k ^^eatw”kk;k% lgk;r;k ^^eatw”kk;k% lgk;r;k ^^ckyJe% ckyds”kq vR;kpkj%ckyJe% ckyds”kq vR;kpkj%ckyJe% ckyds”kq vR;kpkj%ckyJe% ckyds”kq vR;kpkj%***** bfr fo”k;e~ vf/kd̀R; laLd`rHkk”kk;ka iap okD;kfu fy[krA* bfr fo”k;e~ vf/kd̀R; laLd`rHkk”kk;ka iap okD;kfu fy[krA* bfr fo”k;e~ vf/kd̀R; laLd`rHkk”kk;ka iap okD;kfu fy[krA* bfr fo”k;e~ vf/kd̀R; laLd`rHkk”kk;ka iap okD;kfu fy[krA        

eatw”kkeatw”kkeatw”kkeatw”kk    

 

    

tyikux`gs”kq] Hkkstuky;s”kq]  m|ksxs”kq]  ckydk%]  vyiosrue~]  lqfo/kkuke~ vHkko%]  f’k{kkr%]  oafprk%]  
lwphdk;Ze~]  dzhMukr~]  ckY;lq[kkr~] oafprk%]  fofo/kk%]  tuk%]  xzkesH;%] vku;fUr]  dzhf.kRok] vfiA 

fe=kf.k] egs’k%] o/kZLo] v=] Hkfo”;fr] e/kqjLe`r;%] vk;kstue~] ijh{kkHkoue~] tyikue~] fueU=.ke~A 

fiikflr%]  dkd%]  ik”kk.k[k.Mkfu]  ?kVL;]  o`{kk%]  ckfydk]  x`ge~] ioZrk%]  mifj]  tye~]  ckyk 
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iz’u 4 iz’u 4 iz’u 4 iz’u 4 v/kksfyf[krv/kksfyf[krv/kksfyf[krv/kksfyf[krkfukfukfukfu    okD;kfu laLd`r Hkk”kk;ke~ vuqokne~ d`Rok fy[kr AokD;kfu laLd`r Hkk”kk;ke~ vuqokne~ d`Rok fy[kr AokD;kfu laLd`r Hkk”kk;ke~ vuqokne~ d`Rok fy[kr AokD;kfu laLd`r Hkk”kk;ke~ vuqokne~ d`Rok fy[kr A    ¼dspu iap½ ¼dspu iap½ ¼dspu iap½ ¼dspu iap½             ¿¿¿¿ 1x5=5555ÀÀÀÀ    

d- lkseukFk xqtjkr esa fLFkr gSA  
[k- fdlku us liZ dk iwtu fd;kA 
x- eSa nsoky; tkdj iwtk d:¡xkA 
?k- thou dk lq[k R;kx esa gh gSA 
³- ,d ou esa ,d fo’kky o`{k FkkA 
p- esjk HkkbZ n’keh d{kk esa i<+rk gSA 
N- vuq’kklu gh thou dk vk/kkj gSA 

    
    

[k.M% ^x*[k.M% ^x*[k.M% ^x*[k.M% ^x*    
vuqiz;qDr&vuqiz;qDr&vuqiz;qDr&vuqiz;qDr&O;kdj.ke~O;kdj.ke~O;kdj.ke~O;kdj.ke~    ¿25 vadk%À¿25 vadk%À¿25 vadk%À¿25 vadk%À    

    

iz’u 5 v/kksfyf[krkuka inkuka lfU/kiz’u 5 v/kksfyf[krkuka inkuka lfU/kiz’u 5 v/kksfyf[krkuka inkuka lfU/kiz’u 5 v/kksfyf[krkuka inkuka lfU/kaa aa    lfU/kfoPNsna ok d̀Rok lfU/kfoPNsna ok d̀Rok lfU/kfoPNsna ok d̀Rok lfU/kfoPNsna ok d̀Rok fy[krA fy[krA fy[krA fy[krA                     ¿¿¿¿ 1x4=4444ÀÀÀÀ    
d- bZ’oj% losZH;% lr~ $ efre~lr~ $ efre~lr~ $ efre~lr~ $ efre~ n|kr~A 

¿vÀ lUefre~  ¿cÀ lEefre~  ¿lÀ ln~efre~  ¿nÀ lUufre~ 

[k- vL;ka d{kk;ka “k..kofr%“k..kofr%“k..kofr%“k..kofr% Nk=k% iBfUrA 

¿vÀ “kV~ $ .kofr% ¿cÀ “k.k~ $ .kofr% ¿lÀ “kM~ $ .kofr% ¿nÀ “kV~ $ uofr% 

x- lTtuk% ok³~eu%ok³~eu%ok³~eu%ok³~eu% ri% vkpjfUrA 
¿vÀ ok³~$eu%  ¿cÀ okx~$eu%  ¿lÀ okV~$eu%  ¿nÀ okd~$eu% 
?k- ;nk vko;ks% ckyHkkotfura fdafpnfou;afdafpnfou;afdafpnfou;afdafpnfou;a i’;frA 
¿vÀ fdafpr~$vfou;e~ ¿cÀ fdafpre~$vfou;e~ ¿lÀ fdafpn$fou;e~ ¿nÀ fdafpV~$vfou;e~ 

    

iz’u 6 v/kksfyf[krokD;s”kq js[kkafdrinkuka lekla foxzga ok dq#rAiz’u 6 v/kksfyf[krokD;s”kq js[kkafdrinkuka lekla foxzga ok dq#rAiz’u 6 v/kksfyf[krokD;s”kq js[kkafdrinkuka lekla foxzga ok dq#rAiz’u 6 v/kksfyf[krokD;s”kq js[kkafdrinkuka lekla foxzga ok dq#rA                        ¿¿¿¿ 1x4=4444ÀÀÀÀ    
d- losZ mixaxe~mixaxe~mixaxe~mixaxe~ ,o xPNfUrA 
¿vÀ xaxk;k lehie~ bfr ¿cÀ xaxk lehie~ bfr ¿lÀ mik;k% lehie~ bfr ¿nÀ xaxk;k% lehie~ bfr 
[k- izfrtuizfrtuizfrtuizfrtua Hkkstua izkIrO;e~A 
¿vÀ tua izfr tua izfr ¿cÀ tue~ tue~ bfr ¿lÀ tua izfr bfr ¿nÀ izfr tua bfr 
x- f’k’ko% lfp=alfp=alfp=alfp=a iqLrda nz”Vqe~ bPNfUrA 
¿vÀ rsu fp=s.k lfgre~ ¿cÀ fp=L; lfgre~ ¿lÀ fp=e~ fp=e~ bfr ¿nÀ fp=s.k lfgre~ 
?k- f’kf’kjolUrkSf’kf’kjolUrkSf’kf’kjolUrkSf’kf’kjolUrkS iqujk;r%A 
¿vÀ f’kf’kj% p olUrkS p ¿cÀ f’kf’kjk’p olUrk’p ¿lÀ f’kf’kjkS p olUrkS p¿nÀ f’kf’kj% p olUr% p 

    
iz’u 7 v/kksfyf[krokD;s”kq js[kkafdrinkuka izd̀frizR;;kS la;ksT; iz’u 7 v/kksfyf[krokD;s”kq js[kkafdrinkuka izd̀frizR;;kS la;ksT; iz’u 7 v/kksfyf[krokD;s”kq js[kkafdrinkuka izd̀frizR;;kS la;ksT; iz’u 7 v/kksfyf[krokD;s”kq js[kkafdrinkuka izd̀frizR;;kS la;ksT; foHkT; ok fy[krAfoHkT; ok fy[krAfoHkT; ok fy[krAfoHkT; ok fy[krA                ¿¿¿¿ 1x4=4444ÀÀÀÀ    

d- losZ”kke~ egRRoe~egRRoe~egRRoe~egRRoe~ fo|rs ;Fkkle;e~A 
¿vÀ eg $ Ro  ¿cÀ eg $ Roe~  ¿lÀ egr~ $ Roe~ ¿nÀ egr~ $ Ro 
[k- losZ”kq viR;s”kq tuuh rqY; oRlykoRlykoRlykoRlykA 
¿vÀ oRly $ Bd~ ¿cÀ oRly $ Vki~ ¿lÀ oRly $ Dr ¿nÀ oRly $ ry~ 
x- vxk/ktylapkjhlapkjhlapkjhlapkjh jksfgr% xoZa u ;kfrA 
¿vÀ lapkj $ ³hi~ ¿cÀ lapkj $ bu~ ¿lÀ lapkj $ erqi~ ¿nÀ lapkj $ Bd~ 
?k- vodzrkvodzrkvodzrkvodzrk ;Fkk fpRrs rFkSo ;fn okfp Hkosr~A 
¿vÀ odz$ry~  ¿cÀ v$odz$Vki~ ¿lÀ v$odz$Ro  ¿nÀ v$odz$ry~ 
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iz’u 8 v/kksfyf[kra le;a ǹ”V~ok laLd̀r ine~ fy[krAiz’u 8 v/kksfyf[kra le;a ǹ”V~ok laLd̀r ine~ fy[krAiz’u 8 v/kksfyf[kra le;a ǹ”V~ok laLd̀r ine~ fy[krAiz’u 8 v/kksfyf[kra le;a ǹ”V~ok laLd̀r ine~ fy[krA                            ¿¿¿¿ 1x4=4444ÀÀÀÀ    

d- vkfnR;% ¼5%15½ &&&&&&&&&& oknus mfRr”BfrA 
[k- ¼6%00½ &&&&&&&&&& oknus Lukukfnda djksfrA 
x- ¼6%30½ &&&&&&&&&& oknus iwtukfnde~ djksfrA 
?k- ¼8%45½ &&&&&&&&&& oknus iBuk; fo|ky;a xPNfrA 

    
iz’u 9 v/kksfyf[krkfu js[kkafdrkfu inkfu la’kks/; fy[krAiz’u 9 v/kksfyf[krkfu js[kkafdrkfu inkfu la’kks/; fy[krAiz’u 9 v/kksfyf[krkfu js[kkafdrkfu inkfu la’kks/; fy[krAiz’u 9 v/kksfyf[krkfu js[kkafdrkfu inkfu la’kks/; fy[krA        ¼dspu =;%½¼dspu =;%½¼dspu =;%½¼dspu =;%½                    ¿¿¿¿ 1x3=3333ÀÀÀÀ    

d- tuk% g~;%g~;%g~;%g~;% vki.ka xfe”;fUrA 
[k- laU;klh vonr~ vye~ fooknk;fooknk;fooknk;fooknk;A 
x- e;k lg ee fe=e~fe=e~fe=e~fe=e~ vfi xPNfUrA 
?k- vga tukuke~ izsf”kre~izsf”kre~izsf”kre~izsf”kre~ i=kf.k forjkfeA 

    
iz’u 10 v/kksfyf[kra laokna mfpr fodYisH;% iwjf;Rok fy[krAiz’u 10 v/kksfyf[kra laokna mfpr fodYisH;% iwjf;Rok fy[krAiz’u 10 v/kksfyf[kra laokna mfpr fodYisH;% iwjf;Rok fy[krAiz’u 10 v/kksfyf[kra laokna mfpr fodYisH;% iwjf;Rok fy[krA                            ¿¿¿¿ 1x3=3333ÀÀÀÀ    

x.ks’k%  & lqjs’k! fda Roa jkek;.ka iBfl\ 
lqjs’k% & vke~ ¼1½ &&&&& jkek;.ka iB~;rsA 
x.ks’k%  & fda Roa ‘yksdku~ Lejfl\ 
lqjs’k% & vke~ e;k ¼2½ &&&&& vfi Le;ZUrsA 

x.ks’k%  & fda d{kk;ke~ vkpk;Z% dFkka dFk;fr\ 

lqjs’k% & vke~ d{kk;ke~ vkpk;sZ.k dFkk ¼3½ &&&&&A 
    

eatw”kkeatw”kkeatw”kkeatw”kk    
 
 

    
    
iz'u 11 v/kksfyf[kra okD;a eatw”kkr% vO;; inkfu fpRok fjDrLFkkukfu iwj;rAiz'u 11 v/kksfyf[kra okD;a eatw”kkr% vO;; inkfu fpRok fjDrLFkkukfu iwj;rAiz'u 11 v/kksfyf[kra okD;a eatw”kkr% vO;; inkfu fpRok fjDrLFkkukfu iwj;rAiz'u 11 v/kksfyf[kra okD;a eatw”kkr% vO;; inkfu fpRok fjDrLFkkukfu iwj;rA                                    ¿¿¿¿½x6=3333ÀÀÀÀ    

mioukr~ ¼1½ &&&&&&&&&&&& unh ogfrA d{kk;k% cfg% Roa ¼2½ &&&&&&&&&&&& xPNA 
¼3½ &&&&&&&&&& dFkk Jw;rs rkor~ r=So fr”BA ¼4½ &&&&&&&&&& Roefi Lod;Ze~ dq;kZ%A 
es?kk% ¼5½ &&&&&&&&&& xtZfUr ¼6½ &&&&&&&&&& vga u tkukfe\ 

    

eatw”kkeatw”kkeatw”kkeatw”kk    
 

    

    
    [k.M% ^?k*[k.M% ^?k*[k.M% ^?k*[k.M% ^?k*    

ifBr&vocks/kue~ ¿30ifBr&vocks/kue~ ¿30ifBr&vocks/kue~ ¿30ifBr&vocks/kue~ ¿30    vadk%Àvadk%Àvadk%Àvadk%À    
    
iz’u 12 v/kksfyf[kra x|k’ka ifBRok iz’ukuke~ mRrjkf.k fy[krAiz’u 12 v/kksfyf[kra x|k’ka ifBRok iz’ukuke~ mRrjkf.k fy[krAiz’u 12 v/kksfyf[kra x|k’ka ifBRok iz’ukuke~ mRrjkf.k fy[krAiz’u 12 v/kksfyf[kra x|k’ka ifBRok iz’ukuke~ mRrjkf.k fy[krA                            

vfLr nsmyk[;ks xzke%A r= jkt flag% uke jktiq=% olfr LeA ,dnk dsukfi vko';ddk;sZ.k rL; Hkk;kZ cqf)erh 
iq=};ksisrk firqx`Zga izfr pfyrkA ekxsZ xgudkuus lk ,da O;k?kza nn'kZA lk O;k?kzekxPNUra n`"V~ok /k"V~;kZr~ iq=kS 
pisV;k izâR; txkn& dFkesdd'kks O;k?kzHk{k.kk; dyga dq#Fk%\ v;esdLrkof}HkT; HkqT;rke~A i'pkn~ vU;ks 
f}rh;% df'pYy{;rsA 
    

1 ,dinsu mRrjrA 1 ,dinsu mRrjrA 1 ,dinsu mRrjrA 1 ,dinsu mRrjrA                                         ¿¿¿¿ ½x2=1111ÀÀÀÀ    
d- jktflag% dq= olfr Le\ 
[k- cqf)erh dq= ,da O;k?kza nn’kZ\ 
    

‘yksdk%]  e;k]  dF;rs 

;kor~]  ek]  ;nk&dnk]  cfg%]  bfr]  fdeFkZe~ 
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2222    iw.kZokD;su mRrjrAiw.kZokD;su mRrjrAiw.kZokD;su mRrjrAiw.kZokD;su mRrjrA                                        ¿¿¿¿ 1x2=2222ÀÀÀÀ    
d- cqf)erh iq=kS pisV;k izgR; fde~ txkn\ 
[k- dkS ,dSd’k% O;k?kzHk{k.kk; dyga dq#r%\ 
    

3 funsZ’kkuqlkje~ mRrjrA3 funsZ’kkuqlkje~ mRrjrA3 funsZ’kkuqlkje~ mRrjrA3 funsZ’kkuqlkje~ mRrjrA                                        ¿¿¿¿ ½x4=2222ÀÀÀÀ    
d- ^̂̂̂txkntxkntxkntxkn**** bfr fØ;kinL; drZ`ina fde~\    
[k- ^̂̂̂v;e~v;e~v;e~v;e~**** bfr ina dLeS iz;qDre~\ 
x- ^xUNUr^xUNUr^xUNUr^xUNUre~e~e~e~**** bfr inL; foi;Z;ina x|ka’ks fda ç;qäe~\    
¿vÀ O;k?kze~  ¿cÀ vkxPNUre~  ¿lÀ dkuue~  ¿nÀ txkn    
?k- ^iRuh^iRuh^iRuh^iRuh**** bfr inL; i;kZ;ina x|ka’ks fda ç;qäe~\    
¿vÀ nkjk   ¿cÀ v/kkZafxuh  ¿lÀ Hkk;kZ  ¿nÀ izHkk     

    

iz’u 13 v/kksfyf[kra ukV~;k’ka ifBRok iz’ukuke~ mRrjkf.k fy[krAiz’u 13 v/kksfyf[kra ukV~;k’ka ifBRok iz’ukuke~ mRrjkf.k fy[krAiz’u 13 v/kksfyf[kra ukV~;k’ka ifBRok iz’ukuke~ mRrjkf.k fy[krAiz’u 13 v/kksfyf[kra ukV~;k’ka ifBRok iz’ukuke~ mRrjkf.k fy[krA        
futcq)~;k foeqäk lk Hk;kn~ O;k?kzL; HkkfeuhA 
vU;ks·fi cqf)e‚Yyksds eqP;rs egrks Hk;kr~A 
'k̀xky%  & Hk;kdqya O;k?kza –"V~ok èkwrZ% 'k̀xky% glUukg& Hkoku~ dqr% Hk;kr~ iykf;r%\ 
O;k?kz%  & J`xkya vonr~& xPN] xPN tEcqd! Roefi fdf¥~pn~ xw<çns'ke~A ;rks O;k?kzekjhfr ;k 'kkL=s  

   Jw;rs r;kga gUrqekjCèk% ija x̀ghrdjthforks u"V% 'kh?kza rnxzr%A 
'k̀xky%  & O;k?kz! Ro;k egRdkSrqde~ vkosfnra ;Uekuq"kknfi foHksf"k\ 
O;k?kz%  & çR;{keso e;k lkReiq=kosdd'kks ekeÙkqa dygk;ekukS pisV;k çgjUrh –"VkA 
    

1 ,dinsu mRrjrA 1 ,dinsu mRrjrA 1 ,dinsu mRrjrA 1 ,dinsu mRrjrA                                         ¿¿¿¿ ½x2=1111ÀÀÀÀ    
d- x`ghrdjthforks d% u"V%\ 
[k- da –"V~ok 'k`xky% glu~ vonr~\ 
    

2 iw.kZokD;su mRrjrA2 iw.kZokD;su mRrjrA2 iw.kZokD;su mRrjrA2 iw.kZokD;su mRrjrA                                        ¿¿¿¿ 1x2=2222ÀÀÀÀ    
d- O;k?kz% J`xkya fde~ vonr\ 
[k- cqf)erh dL; Hk;kn~ foeqäk\ 
    

3 funsZ’kkuqlkje~ mRrjrA3 funsZ’kkuqlkje~ mRrjrA3 funsZ’kkuqlkje~ mRrjrA3 funsZ’kkuqlkje~ mRrjrA                                        ¿¿¿¿ ½x4=2222ÀÀÀÀ    
d- ^tEcqd%*^tEcqd%*^tEcqd%*^tEcqd%* bfr inL; i;kZ;ina ukV~;ka'ks fdefLr\ 
[k- ^vkg*^vkg*^vkg*^vkg* bfr fØ;kinL; drZ`ina fde~\ 
x- ^'k`xky%*^'k`xky%*^'k`xky%*^'k`xky%* bfr inL; fo'ks"k.kina ukV~;ka'ks fda ç;qäe~\ 
¿vÀ xPNu~  ¿cÀ /kkou~  ¿lÀ glu~  ¿nÀ onu~ 
?k- ^#nu~*^#nu~*^#nu~*^#nu~* bfr inL; foi;Z;ina ukV~;ka'ks fde~\ 
¿vÀ dqoZu~  ¿cÀ dzhMu~  ¿lÀ /kkou~  ¿nÀ glu~ 
    

iz’u 14 v/kksfyf[kra i|k’ka ifBRok iz’ukuke~ mRrjkf.k fy[krAiz’u 14 v/kksfyf[kra i|k’ka ifBRok iz’ukuke~ mRrjkf.k fy[krAiz’u 14 v/kksfyf[kra i|k’ka ifBRok iz’ukuke~ mRrjkf.k fy[krAiz’u 14 v/kksfyf[kra i|k’ka ifBRok iz’ukuke~ mRrjkf.k fy[krA                            
ok;qe.Mya Hk̀'ka nwf"kra u fg fueZya tye~A 
dqfRlroLrqfefJra Hk{;a leya /kjkrye~AA 
dj.kh;a cfgjUrtZxfr rq cgq 'kq)hdj.ke~A 'kqfp--- 
    

1 ,dinsu mRrjrA1 ,dinsu mRrjrA1 ,dinsu mRrjrA1 ,dinsu mRrjrA                                        ¿¿¿¿ ½x2=1111ÀÀÀÀ    
d- iznw”k.ksu ok;qe.Mya dhn`’le~ tkre~\ 
[k- /kjkrye~ dhn`’ke~ tkre~\ 
    

    
2 iw.kZokD;su mRrjrA2 iw.kZokD;su mRrjrA2 iw.kZokD;su mRrjrA2 iw.kZokD;su mRrjrA                                        ¿¿¿¿ 1x2=2222ÀÀÀÀ    
d- dqfRlroLrqfefJra fde~ vfLr\  
[k- vLekda i;kZoj.ks fda&fda nwf”kre~ vfLr\ 
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3 funsZ’kkuqlkje~ mRrjrA3 funsZ’kkuqlkje~ mRrjrA3 funsZ’kkuqlkje~ mRrjrA3 funsZ’kkuqlkje~ mRrjrA                                        ¿¿¿¿ ½x4=2222ÀÀÀÀ    
d- ^̂̂̂lalkjslalkjslalkjslalkjs**** bR;FksZ fde~ ine~ dkO;ka’ks fde~ iz;qDre~\ 
[k- ^̂̂̂tytytytye~e~e~e~**** bfr inL; fo’ks”k.k ina dkO;ka’ks fde~ iz;qDre~\ 
x- ^̂̂̂nwf”krnwf”krnwf”krnwf”kre~e~e~e~**** bfr inL; foijhrkFkZde~ ine~ dkO;ka’ks fde~ iz;qDre~\   
¿vÀ Hk̀’ke~  ¿cÀ Hk{;e~  ¿lÀ d`fRlr  ¿nÀ fueZye~ 
?k- ^̂̂̂vf/kde~vf/kde~vf/kde~vf/kde~**** bfr inL; i;kZ;ina dkO;ka’ks fde~ iz;qDre~\  
¿vÀ Hk{;e~  ¿cÀ fueZye~  ¿lÀ Hk̀’ke~  ¿nÀ d`fRlre~ 

    

iz’u 15 js[kkafdrinkfu vk/k`R; mfpra iz’ufuekZ.ka d`Rok fy[krAiz’u 15 js[kkafdrinkfu vk/k`R; mfpra iz’ufuekZ.ka d`Rok fy[krAiz’u 15 js[kkafdrinkfu vk/k`R; mfpra iz’ufuekZ.ka d`Rok fy[krAiz’u 15 js[kkafdrinkfu vk/k`R; mfpra iz’ufuekZ.ka d`Rok fy[krA                        ¿¿¿¿ 1x4=4444ÀÀÀÀ    
d- Roe~ ekuq”kkr~ekuq”kkr~ekuq”kkr~ekuq”kkr~ vfi fcHksf”kA 
[k- cqf)erh pisV;kpisV;kpisV;kpisV;k iq=kS izârorhA 
x- O;k?ke~O;k?ke~O;k?ke~O;k?ke~ n`”V~ok /kwrZ% J`xky% vonr~A 

?k- ‘kdVh;kue~ dTtyefyue~dTtyefyue~dTtyefyue~dTtyefyue~ /kwea eqapfrA 

 

iz’u 16 iz’u 16 iz’u 16 iz’u 16 v/kksfyf[kra dkO;ka’ka ifBRok vUo;a iwjf;Rok fy[kr Av/kksfyf[kra dkO;ka’ka ifBRok vUo;a iwjf;Rok fy[kr Av/kksfyf[kra dkO;ka’ka ifBRok vUo;a iwjf;Rok fy[kr Av/kksfyf[kra dkO;ka’ka ifBRok vUo;a iwjf;Rok fy[kr A                        ¿¿¿¿ 1x4=4444ÀÀÀÀ    
nqoZge= thfora tkra izÑfrjso 'kj.ke~A 'kqfp&i;kZoj.ke~AA 
egkuxjeè;s pynfu'ka dkyk;lpØe~A 
eu% 'kks"k;r~ ruw% is"k;n~ Hkzefr lnk oØe~AA 
nqnkZUrSnZ'kuSjequk L;kUuSo tuxzlue~AA 'kqfp&i;kZoj.ke~AA 
 

vuO;%&vuO;%&vuO;%&vuO;%& v= thfore~ ¼1½ &&&&&&&&&&&& tkre~ izd̀fr% ¼2½ &&&&&&&&&&&& ‘kj.ke~A ‘kqfpi;kZoj.ke~ 
Hkosr~A egkuxje/;s ¼3½ &&&&&&&&&&&&  pyr~ dkyk;lpdze~ eu% ¼4½ &&&&&&&&&&&& ruq% izs”k;n~ 
lnk odze~ HkzefrA vequk nqnkZUrS% n’kuS tuxzlue~ u ,o L;kr~A 

 

eatw”kkeatw”kkeatw”kkeatw”kk    
 

vFkokvFkokvFkokvFkok    
 

vFkokvFkokvFkokvFkok        
v/kksfyf[kra dkO;ka’ka ifBRok eatw”kkr% ‘kCna fpRok HkkokFkZa iziw;Z fy[kr Av/kksfyf[kra dkO;ka’ka ifBRok eatw”kkr% ‘kCna fpRok HkkokFkZa iziw;Z fy[kr Av/kksfyf[kra dkO;ka’ka ifBRok eatw”kkr% ‘kCna fpRok HkkokFkZa iziw;Z fy[kr Av/kksfyf[kra dkO;ka’ka ifBRok eatw”kkr% ‘kCna fpRok HkkokFkZa iziw;Z fy[kr A                    

            

;kukuka ;kukuka ;kukuka ;kukuka iaDr;ksiaDr;ksiaDr;ksiaDr;ks    áuUrk% dfBua lalj.ke~AáuUrk% dfBua lalj.ke~AáuUrk% dfBua lalj.ke~AáuUrk% dfBua lalj.ke~A    
 

HkkokFkZ%&HkkokFkZ%&HkkokFkZ%&HkkokFkZ%&    vk/kqfuds ;qxs ¼1½ &&&&&&&&& ekxsZ”kq fofo/k;kukuke~ ¼2½ &&&&&&&&& /kwee~ eqapfUr 
¼3½ &&&&&&&&& /kkofUr pA vr,o r= pyue~ xeue~ p ¼4½ &&&&&&&&& orZrsA 

eatw”kkeatw”kkeatw”kkeatw”kk    
 

    

    
iz’u 17iz’u 17iz’u 17iz’u 17    v/kksfyf[krkfu okD;kfu ?kVukdzekuqlkje~ fy[krAv/kksfyf[krkfu okD;kfu ?kVukdzekuqlkje~ fy[krAv/kksfyf[krkfu okD;kfu ?kVukdzekuqlkje~ fy[krAv/kksfyf[krkfu okD;kfu ?kVukdzekuqlkje~ fy[krA                        ¿¿¿¿ ½x8=4444ÀÀÀÀ    

d- tEcqd% vonr~ & Hkoku~ dqr% Hk;kr~ iykf;r%\ 
[k- iqjk Ro;k eg~;a O;k?kz=;e~ nRre~A 
x- Lokfeu~ ;=kLrs lk /kwrkZ r= xE;rke~A 
?k- r= jktflag% uke jktiq=% olfr LeA 
³- O;k?kzekjh dkfpfn;fefr eRok O;k?kz% Hk;kdqyfpRrks u”V%A 
p- J`xkysu lfgra iqujk;kUra O;k?kza ǹ”V~ok cqf)erh fpfUrrorhA 
N- ekxsZ xgudkuus lk ,da O;k?kza nn’kZA 
t- ,oa izdkjs.k cqf)erh O;k?kztkn~ Hk;kr~ iqujfi foeqDrk·Hkor~A 

drkjk%]   rhozxR;k]  dfBue~]  egkuxjs”kqAdrkjk%]   rhozxR;k]  dfBue~]  egkuxjs”kqAdrkjk%]   rhozxR;k]  dfBue~]  egkuxjs”kqAdrkjk%]   rhozxR;k]  dfBue~]  egkuxjs”kqA 

vfu'ke~] L;kr~] ‘kks”k;r~] noZge~] Hkzefr] ,o] izs”k;n~] n’kuS%Avfu'ke~] L;kr~] ‘kks”k;r~] noZge~] Hkzefr] ,o] izs”k;n~] n’kuS%Avfu'ke~] L;kr~] ‘kks”k;r~] noZge~] Hkzefr] ,o] izs”k;n~] n’kuS%Avfu'ke~] L;kr~] ‘kks”k;r~] noZge~] Hkzefr] ,o] izs”k;n~] n’kuS%A 
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iz’u 18 v/kksfyf[krkfu js[kkafdrinkfu vk/k`R; fodYisH;% mfpriz’u 18 v/kksfyf[krkfu js[kkafdrinkfu vk/k`R; fodYisH;% mfpriz’u 18 v/kksfyf[krkfu js[kkafdrinkfu vk/k`R; fodYisH;% mfpriz’u 18 v/kksfyf[krkfu js[kkafdrinkfu vk/k`R; fodYisH;% mfprkFkZa fpRok fy[krA kFkZa fpRok fy[krA kFkZa fpRok fy[krA kFkZa fpRok fy[krA ¼dspu =;%½¼dspu =;%½¼dspu =;%½¼dspu =;%½        ¿¿¿¿ 1x3=3333ÀÀÀÀ    
d- ik”kk.kh lH;rk fulxsZfulxsZfulxsZfulxsZ lekfo”Vk u L;kr~A 
¿vÀ izd`fr%  ¿cÀ /kjkrye~  ¿lÀ izd`R;ke~  ¿nÀ uhjlrke~ 
[k- ruq%ruq%ruq%ruq% izs”k;n~ lnk odze~ HkzefrA 
¿vÀ tye~  ¿cÀ cye~  ¿lÀ Kkue~  ¿nÀ ‘kjhje~ 
x- flage~ n`”V~ok losZ i’ko% rw.kZe~rw.kZe~rw.kZe~rw.kZe~ v/kkou~A 
¿vÀ ‘kh?kze~  ¿cÀ J`xkye~  ¿lÀ O;k?kze~  ¿nÀ izR;{ke~ 
?k- i;%i;%i;%i;% iwja unh&fu>Zja izi’;kfeA 
¿vÀ nksX/ke~  ¿cÀ jle~  ¿lÀ tye~  ¿nÀ Hkktue~ 
 

-----------------------------------------XX-----------------------------------------    


